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CLASSROOM CONSOLIDATION (CRC) TEST 
 
Fwpg;G: khzth;fs; jq;fsJ ngah;> ifg;Ngrp vz; kw;Wk; gjpT vz;iz tpilj;jhspy; 

(OMR) Fwpg;gpLkhW mwpTWj;jg;gLfpwhh;fs; 
 

Neuk;: 3 kzp         nkhj;j kjpg;ngz;fs;: 300 
 

tpdhf;fSf;F gjpyspf;Fk; Kd; fPo;f;fz;l mwpTiufis ftdkhfg; gbf;fTk; 
 

1. ,e;j tpdhj;njhFg;G> Njh;T njhlq;Ftjw;F 15 epkplq;fSf;F Kd;djhf cq;fSf;F 
toq;fg;gLk; 
 

2. ,e;j tpdhj;njhFg;G 200 tpdhf;fisf; nfhz;Ls;sJ. tpilaspf;fj; njhlq;FKd; 
,t;tpdhj;njhFg;gpy; vy;yh tpdhf;fSk; thpirahf ,lk; ngw;Ws;sdth vd;gijAk;> ,ilapy; 
ntw;Wj;jhs;fs; vitAk; ,y;iy vd;gijAk; cWjp nra;J nfhs;sTk;. tpdhj;njhFg;gpy; 
VNjDk; FiwghL ,Ug;gpd;> mjid Kjy; gj;J epkplq;fSf;Fs; miwf;fz;fhzpg;ghshplk; 
njhptpj;J> rhpahf cs;s NtnwhU tpdhj;njhFg;gpid ngw;Wf;nfhs;s Ntz;Lk;. Njh;T 
njhlq;fpa gpd;G ,J Fwpj;J Kiwapl;lhy; tpdhj;njhFg;G khw;wpj; jug;glkhl;lhJ. 
 

3. vy;yh tpdhf;fSf;Fk; tpilaspf;fTk;> vy;yh tpdhf;fSk; rkkhd kjpg;ngz;fs; nfhz;lit. 
 

4. cq;fSila gjpT vz;iz ,e;jg;gf;fj;jpd; tyJ Nky; %iyapy; mjw;nfd mike;Js;s 
,lj;jpy; ePq;fs; vOj Ntz;Lk;. NtW vijAk; tpdhj;njhFg;gpy; vOjf;$lhJ. 
 

5. tpilj;jhs; xd;W tpilfis Fwpg;gjw;F miwf;fz;fhzpg;ghsuhy; cq;fSf;F toq;fg;gLk;. 
tpilfisf; Fwpg;gJ cs;spl;l mtrpak; gpd;gw;wg;gl Ntz;ba mwpTiufs; tpilj;jhspYk; 
Njh;Tf;$l mDkjpr;rPl;bYk; toq;fg;gl;Ls;sd. 
 

6. cq;fSila tpdhj;njhFg;G vz;iz (Question Booklet Number) tpilj;jhspd; Kjy; gf;fj;jpy; 
mjw;nfd mike;Js;s ,lj;jpy; fUik epw ikAila ge;JKiwg; Ngdhtpdhy; 
Fwpj;Jf;fhl;lNtz;Lk;. tpdhj;njhFg;G vz;iz tpilj;jhspy; rhpahff; Fwpj;Jf;fhl;lj; 
jtwpdhNyh my;yJ Fwpf;fj; jtwpdhNyh cq;fSila tpilj;jhs; nry;yhjjhf;fg;gLk;. 

 
7. xt;nthU tpdhTk; (A) (B) (C) (D) (E) vd Ie;J gjpy;fisf; nfhz;Ls;sJ. ePq;fs; (A) my;yJ 

(B) my;yJ (C) my;yJ (D) ,itfspy; xNu xU rhpahd tpiliaj; njhpT nra;J tpilj;jhspy; 
Fwpj;Jf;fhl;l Ntz;Lk;. xU Nfs;tpf;F xd;Wf;F Nkw;gl;l rhpahd tpil ,Ug;gjhf ePq;fs; 
fUjpdhy;> kpfr;rhpahdJ vd ePq;fs; vijf;fUJfpwPh;fNsh me;j tpilia tpilj;jhspy; 
Fwpj;Jf;fhl;l Ntz;Lk;. cq;fSf;F tpil njhpatpy;iy vdpy;> ePq;fs; (E) vd;gij mtrpak; 
epug;gNtz;Lk;. vg;gbahapDk;> xU Nfs;tpf;F xNu xU tpiliaj;jhs; Njh;e;njLf;f Ntz;Lk;. 
ePq;fs; xU Nfs;tpf;F xd;Wf;F Nkw;gl;l tpilaspj;jhy;> mtw;Ws; xU tpil rhpahdjhf 
,Ue;jhYk; me;j tpil jtwhdjhfNt fUjg;gLk;. 
 

8. ePq;fs; tpdhj;njhFg;gpd; ve;jg; gf;fj;ijAk; ePf;fNth my;yJ fpopf;fNth $lhJ. Njh;T 
Neuj;jpy; ,e;j tpdhj;njhFg;gpidNah my;yJ tpilj;jhisNah Njh;Tf; $lj;ij tpl;L 
ntspapy; vLj;Jr; nry;yf;$lhJ. Njh;T Kbe;jgpd; ePq;fs; cq;fSila tpilj;jhisf; 
fz;fhzpg;ghshplk; nfhLj;J tpl Ntz;Lk;. ,t;tpdhj;njhFg;gpidj; Njh;T Kbe;jTld; ePq;fs; 
cq;fSld; vLj;Jr; nry;yyhk;. 
 

9. Fwpg;Gfs; vOjpg;ghh;g;gjw;F tpdhj;njhFg;gpd; filrp gf;fj;jpw;F Kd;gf;fj;ij cgNahfpj;Jf; 
nfhs;syhk;. ,ijj;jtpu tpdhj;njhFg;gpd; ve;j ,lj;jpYk; ve;jtpj Fwpg;GfisAk; vOjf;$lhJ. 
,e;j mwpTiu fz;bg;ghf gpd;gw;wg;glNtz;Lk;. 
 

10. Mq;fpy tbtpy; nfhLf;fg;gl;Ls;s Fwpg;Gfs;jhd; KbthdjhFk;. 
 

11. ePq;fs; Nkw;fz;l mwpTiufspy; vtw;iwahtJ gpd;gw;wj; jtwpdhy; Njh;thizak; vLf;Fk; 
eltbf;iffSf;F cs;shf NehpLk; vd mwpTWj;jg;gLfpwJ. 
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1. What does Arrhenius theory states?  
a. An acid is a substance which furnishes H+ or H3O+ ions in aqueous solution.  
b. They contain one or more replaceable hydrogen atoms.  
c. Both a and b 
d. Neither a nor b 
e. Answer not known 
Mh;`Pdpa]; nfhs;if $WtJ vd;d?  
a. mkpyq;fs; ePhpy; fiuAk; NghJ H+ my;yJ H3O+ madpfis jUk;  
b. mkpyq;fs; xd;W my;yJ mjw;F Nkw;gl;l ,lg;ngah;r;rp nra;aj;jf;f 

i`l;u[d; mZf;fisf; nfhz;lit.  
c. a kw;Wk; b ,uz;Lk; rhp  

d. a kw;Wk; b ,uz;Lk; jtW  
e. tpilnjhpatpy;iy 

 
2. Consider the following statements 

Statement 1 : All acids essentially contain one or more hydrogens.  
Statement 2 : But all the hydrogen containing substances are not acids.  
a. Statement one is correct, statement two is wrong  
b. Statement one is wrong, statement two is correct 
c. Both the Statement are correct 
d. Both the Statement are wrong  
e. Answer not known 
gpd;tUk; $w;Wfis Ma;f 
$w;W 1: midj;J mkpyq;fSk; xd;W my;yJ mjw;F Nkw;gl;l i`l;u[d; 
mZf;fisf; nfhz;lit.  
$w;W 2: Mdhy; i`l;u[d; cs;s midj;Jg; nghUs;fSk; mkpyq;fs; my;y. 
a. $w;W 1 rhp> $w;W 2 jtW  b. $w;W 1 jtW> $w;W 2 rhp 
c. ,uz;L $w;WfSk; rhp    d. ,uz;L $w;WfSk; jtW  
e. tpilnjhpatpy;iy 
 

3. Match the following:  
 Compound     Molecular Formula  

A. Washing soda    1. NaHCO3 
B. Baking soda   2. CaOCl2 
C. Bleaching Powder   3. CaSo4. ½H2O  
D. Plaster of Paris    4. Na2CO3  
  A B C D 
a. 1 2 4 3  
b. 4 1 2 3  
c. 4 2 3 1  
d. 1 4 3 2 
e. Answer not known 
nghUj;Jf:  
Nrh;kk;     %yf;$Wtha;g;ghL  
A. ryit Nrhlh   1. NaHCO3 
B. rikay; Nrhlh    2. CaOCl2  
C. ryitj; J}s;    3. CaSO4. ½H2O  
D. ghhp]; rhe;J    4. Na2CO3  



 

4 | Page     APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187 

 

 A B C D 
a. 1 2 4 3  
b. 4 1 2 3  
c. 4 2 3 1  
d. 1 4 3 2 
e. tpilnjhpatpy;iy 
 

4. Which of the following phase the cells remain metabolically active without 
proliferation? 
a. G1 Phase  b. G2 Phase   c. G0 Phase   
d. M Phase  e. Answer not known 
gpd;tUtdtw;Ws; ve;j epiyapy; nry; ngUf;fkilahky; ,Ue;J tsu;rpij 
khw;wj;ij kl;LNk nra;fpd;wd? 
a. G1 epiy  b. G2 epiy   c. G0 epiy   
d. M epiy  e. tpilnjhpatpy;iy 
 

5. Which of the following algae is used as fertilizer? 
a. Lithophyllum  b. Chara   c. Fucus   
d. All of these  e. Answer not known 
gpd;tUk; ghrpfSs; vit cuq;fshf gad;gLj;jg;gLfpwJ? 
a. ypj;Njhgpy;yk;  b. Nfuh   c. /gpAf];   
d. ,it midj;Jk;  e. tpilnjhpatpy;iy 
 

6. Which fungi are used to produce Riboflavin? 
a. Fusarium Oxiporam   b. Ashbya Gospii 
c. Collectotricum falcatum   d. Albugo Candida 
e. Answer not known 
ve;j G+Q;irfs; iuNghgpNstpd; jahupf;f gad;gLj;jg;gLfpd;wd? 
a. /gpA+Nrupak; Mf;rpNghuk;   b. M];gpah Nfh];gP 
c. Nfhyplhl;iuf;fk; /gy;Nfl;lk;  d. my;GNfh Nfz;blh 
e. tpilnjhpatpy;iy 
 

7. The HIV belongs to which genus? 
a. Lentivirus  b. Flavivirus   c. Erbovirus   
d. Rotavirus  e. Answer not known 
HIV ve;j Ngupdj;ij rhu;e;jJ? 
a. nyd;bitu]; b. gpNstpitu];  c. vu;Nghitu];  
d. Nuhl;lh itu]; e. tpilnjhpatpy;iy 
 

8. Consider the following statements. 
Assertion (A): Tobacco smoking causes hypoxia in body tissues. 
Reason (R): Carbon monoxide of tobacco smoke binds to hemoglobin of RBC. 
a. Both (A) and (R) are correct and (R) is the correct explanation to (A) 
b. Both (A) and (R) are correct but (R) is not the correct explanation to (A). 
c. (A) and (R) are false 
d. (A) is false, (R) is true 
e. Answer not known 
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$w;W (A): Gifgpbj;jy; cly; jpRf;fspy; i`ghf;rpahit cz;lhf;FfpwJ. 
fhuzk; (R): Gifapiy Gifapy; cs;s fhu;gd; Nkhdhf;irL ,uj;j 
rptg;gZtpy; cs;s `PNkhFNshgpDld; gpizg;ig Vw;gLj;JfpwJ. 
a. (A) kw;Wk; (R) rhp> NkYk; (R) vd;gJ (A) tpw;F rhpahd tpsf;fkhFk;. 
b. (A) kw;Wk; (R) rup Mdhy; (R) vd;gJ (A) tpw;F rhpahd tpsf;fky;y. 
c. (A) kw;Wk; (R) jtW 
d. (A) jtW (R) rhp 
e. tpilnjhpatpy;iy 

 
9. Learning is best defined as 

a. Any change in behaviour 
b. A relatively permanent change in behaviour due to past experience 
c. A permanent change in behaviour due to physical development 
d. Any change in behaviour caused by punishment 
e. Answer not known 
fw;wy; vd;gjd; rpwe;j tiuaiw 
a. elj;ijapy; Vw;gLk; khw;wk; 
b. fle;j fhy mDgtj;jpd; fhuzkhf elj;ijapy; Vw;gLk; epue;ju khw;wk; 
c. cly; tsh;r;rpapd; fhuzkhf elj;ijapy; Vw;gLk; epue;ju khw;wk; 
d. jz;lidapd; fhuzkhf elj;ijapy; Vw;gLk; khw;wk; 
e. tpilnjhpatpy;iy 

 
10. Striving to achieve a standard of excellence in action is 

a. Integrated personality   b. Creativity 
c. Achievement motivation  d. Adjustment 
e. Answer not known 
nray;fspy; Nkyhd epiyia mila Kw;gLjNy  
a. xUq;fpize;j MSik   b. gilg;ghw;wy;  
c. milt+f;fk;    d. nghUj;jghL 
e. tpilnjhpatpy;iy 
 

11. Which is the highest ranked Indian city in the Global Startup Ecosystem Index 
2021? 
a. New Delhi  b. Bengaluru   c. Pune   
d. Noida  e. Answer not known 
rh;tNjr njhlf;f Rw;Wr;#oy; FwpaPL – 2021y; ve;j ,e;jpa efuk; cahpa 
juthpirapy; cs;sJ. 
a. GJnly;yp  b. ngq;f@U   c. G+dh   
d. neha;lh  e. tpilnjhpatpy;iy 

 

12. Which Indian state/UT Government has framed a dedicated policy for the 
welfare of street children? 
a. Andhra Pradesh  b. Delhi   c. Tamil Nadu  
d. Odisha   e. Answer not known 
rhiyNahu Foe;ijfspd; eyDf;fhf> ,e;jpahtpYs;s ve;j khepyk;/A+dpad; 
gpuNjr muR> gpuj;Naf nfhs;ifia tFj;Js;sJ? 
a. Me;jpu gpuNjrk;  b. nly;yp   c. jkpo;ehL   
d. xbrh   e. tpilnjhpatpy;iy 
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13. Indian biologists have identified a new plant species named ‘Bryum 
bharatiensis’, in which continent? 
a. Africa   b. Antarctica    c. Asia   
d. Europe   e. Answer not known 
,e;jpa caphpayhsh;fs; “gpiuak; ghujpnad;rp];” vd;w Gjpa jhtu ,dj;ij 
ve;j fz;lj;jpy; fz;lwpe;Js;sdh;? 
a. Mg;gphpf;fh   b. mz;lhh;bfh   c. Mrpah     
d. INuhg;gh   e. tpilnjhpatpy;iy 

 
14. What is the name of the operation launched by the Indian Navy to protect 

Indian vessels in the Gulf region? 
a. Operation Vanilla   b. Operation Sankalp 
c. Operation Purple   d. Operation Crude 
e. Answer not known 
tisFlh gFjpapy; ,e;jpaf; fg;gy;fisg; ghJfhf;f ,e;jpaf; flw;gil 
Nkw;nfhz;l eltbf;if (Mg;gNu~d;)-apd; ngah; vd;d? 
a. Mg;gNu~d; ntz;zpyh  b. Mg;gNu~d; rq;fy;g; 
c. Mg;gNu~d; gh;Gy;   d. Mg;gNu~d; f;&l; 
e. tpilnjhpatpy;iy 

 

15. Which is the first High Court in India, to begin live-streaming of court 
proceedings? 
a. Madras High Court  b. Gujarat High Court 
c. Mumbai High Court  d. Delhi High Court 
e. Answer not known 
ePjpkd;w eltbf;iffspd; Neub xspgug;igj; njhlq;fpa ,e;jpahtpd; Kjy; 
cah;ePjpkd;wk; vJ? 
a. nkl;uh]; cah;ePjpkd;wk;  b. F[uhj; cah;ePjpkd;wk; 
c. Kk;ig cah;ePjpkd;wk;  d. nly;yp cah;ePjpkd;wk; 
e. tpilnjhpatpy;iy 

 

16. Which Indian has been appointed as the member of UN tax committee? 
a. Urjit Patel    b. Rasmi Ranjan Das 
c. Raghuram Rajan   d. Atanu Chakrobarty 
e. Answer not known 
If;fpa ehLfspd; thpf; FOtpd; cWg;gpduhf epakpf;fg;gl;Ls;s ,e;jpah; ahh;? 
a. ch;[pj; gNly;   b. Nu~;kp uh[d; jh]; 
c. uFuhk; uh[d;   d. mjhD rf;uth;j;jp 
e. tpilnjhpatpy;iy 

 

17. Who is the third Indian to win a tennis singles match at the Olympics? 
a. Somdev Devvarman   b. Sumit Nagal 
c. Yuki Bhambri    d. Rohan Bopanna 
e. Answer not known 
xypk;gpf;fpy; xw;iwah; nld;dp]; Nghl;bapy; ntd;w %d;whtJ ,e;jpah; ahh;? 
a. Nrhk;Njt; Njtth;kd;   b. Rkpj; ehfy;   
c. A+fp ghk;g;hp    d. Nuh`d; Nghgd;dh 
e. tpilnjhpatpy;iy 
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18. The first ever World Drowning Prevention Day (WDPD) is observed on which 
date, in 2021? 
a.  July 21  b. July 25   c. July 28   
d. July 31  e. Answer not known 
Kjd;Kjypy; cyf ePhpy; %o;Ftij jLf;Fk; jpdk; (WDPD) 2021-y; ve;j 
ehspy; mDrhpf;fg;gLfpwJ? 
a. [Piy 21  b. [Piy 25   c. [Piy 28   
d. [Piy 31   e. tpilnjhpatpy;iy 

 
19. Which two countries organised the 3rd Arctic Science Ministerial Meeting, 

2021? 
a. India and Japan   b. Japan and Iceland 
c. Japan and Russia   d. India and Sri Lanka 
e. Answer not known 
ve;j ,uz;L ehLfs; 2021-y; 3-tJ Mh;bf; mwptpay; mikr;rh; $l;lj;ij Vw;ghL 
nra;jd? 
a. ,e;jpah & [g;ghd;  b. [g;ghd; & I];yhe;J 
c. [g;ghd; & u~;ah   d. ,e;jpah & ,yq;if 
e. tpilnjhpatpy;iy 

 
20. On which date, "Muslim Women Rights Day" was observed in India for the first 

time? 
a. August 12  b. July 30   c. August 1    
d. July 26  e. Answer not known 
,e;jpahtpy; Kjd;Kiwahf “K];ypk; ngz;fs; chpik jpdk;” ve;j ehspy; 
mDrhpf;fg;gl;lJ? 
a. Mf];l; 12 b. [Piy 30   c. Mf];l; 1  
d. [Piy 26  e. tpilnjhpatpy;iy 

 
21. Choose the correct statements 

I. Bhubaneshwar became the first city to achieve 100% Covid-19 Vaccination 
in India 

II. The world's first museum on wheels was inaugurated in Kolkata. 
a. I only   b. II only 
c. Both are correct  d. Both are wrong 
e. Answer not known 
rhpahd tpiliaj; Njh;T nra;f. 

I. ,e;jpahtpy; 100% Nfhtpl;-19 jLg;G+rpia mile;j Kjy; efuk; GtNd~th;. 
II. cyfpd; Kjy; elkhLk; mUq;fhl;rpafk; nfhy;fj;jhtpy; jpwf;fg;gl;lJ.  
a. I  kl;Lk;   b. II kl;Lk;   
c. ,uz;Lk; rhp  d. ,uz;Lk; jtW 

 
22. Who is the first female swimmer to win seven medals in a single Olympic 

event? 
a. Janet Evans   b. Katie Ledecky 
c. Emma Mckeon   d. Inge de Brujin 
e. Answer not known 
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xNu xypk;gpf; Nghl;bapy; VO gjf;fq;fis ntd;w Kjy; ngz; ePr;ry; tPuh; ahh;? 
a. N[dl; vtd;];   b. Nfl;b nynlf;fp 
c. vk;kh nkf;fpNahd;   d. ,q;Nf b Gh;[pd; 
e. tpilnjhpatpy;iy 

 
23. Who is/was the first Indian Prime Minister to chair UNSC debate? 

a. Indira Gandhi   b. Dr. Manmohan Singh 
c. Narendra Modi   d. Atal Bihari Vajpayee 
e. Answer not known 
I.eh.tpd; ghJfhg;G FO tpthjj;jpw;F jiyik jhq;fpa Kjy; ,e;jpa gpujkh; 
ahh;? 
a. ,e;jpuh fhe;jp   b. Dr. kd;Nkhfd; rpq; 
c. eNue;jpu Nkhb   d. mly; gpfhhp th[;gha; 
e. tpilnjhpatpy;iy 

 
24. Which Indian state government presented it’s first ever paperless budget on 

13th August 2021? 
a. Uttar Pradesh   b. Kerala 
c. Tamil Nadu   d. West Bengal 
e. Answer not known 
ve;j ,e;jpa khepy muR Mf];l; 13> 2021 md;W jdJ Kjy; fhfpjkpy;yhj 
gl;n[l;il jhf;fy; nra;jJ? 
a. cj;jpugpuNjrk;   b. Nfush 
c. jkpo;ehL    d. Nkw;F tq;fhsk; 
e. tpilnjhpatpy;iy 

 
25. Lovlina Borgohain, who won the boxing bronze medal in Tokyo Olympics is 

from which state? 
a. Sikkim  b. Assam    c. Odisha  
d. Mizoram  e. Answer not known 
Nlhf;fpNah xypk;gpf;fpy; Fj;Jr;rz;ilapy; ntz;fyg; gjf;fk; ntd;w Nyht;ypdh 
Nghh;Nfhi`d; ve;j khepyj;ijr; Nrh;e;jth;? 
a. rpf;fpk;  b. mrhk;    c. xbrh   
d. kpNrhuk;  e. tpilnjhpatpy;iy 
 

26. Recently, which organisation has inducted its first women officers in combat 
operations? 
a. Central Industrial Security Force b. Indo-Tibetan Border Police 
c. Central Reserve Police Force  d. National Security Guard 
e. Answer not known 
rkPgj;jpy;> ve;j mikg;G Kjy;Kiwahf jdJ ngz; mjpfhhpfis Nghh; 
eltbf;iffspy; <LgLj;jpTs;sJ? 
a. kj;jpa njhopw;Jiw ghJfhg;Gg; gil b. ,e;Njh-jpngj;jpa vy;iyf; fhty; 
c. ,e;jpa hprhpt; NghyP]; gil  d. Njrpa ghJfhg;G fhtyh; (NSG) 
e. tpilnjhpatpy;iy 
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27. Which is the first country in the world to grant patent for an invention by 
Artificial intelligence? 
a. South Africa  b. China    c. Japan  
d. South Korea  e. Answer not known 
nraw;if Ez;zwpT fz;Lgpbg;GfSf;F fhg;Ghpik toq;fpa cyfpd; Kjy; ehL 
vJ? 
a. njd; Mg;gphpf;fh  b. rPdh    c. [g;ghd; 

 d. njd; nfhhpah  e. tpilnjhpatpy;iy 
 
28. Find out the correct statements 

I. Indore has been declared as the first 'water plus' city of India. 
II. Chhattisgarh has become the first State to recognize the Community 

Forest Resource Rights in urban areas. 
III. Kaziranga has become the first national park in India to be equipped 

with satellite phones 
IV. Kerala’s police department has launched a first-of-its-kind Drone 

Forensic Lab and Research Centre. 
a. I, III, IV  b. I, II, IV    c. I, II, III   
d. All of these e. Answer not known 
rhpahd tpiliaj; Njh;T nra;aTk;. 
I. ,e;jpahtpd; Kjy; “ePh; kpif” efukhf ,e;J}h; mwptpf;fg;gl;Ls;sJ. 
II. efh;Gwq;fspy; r%f td ts chpikfis mq;fPfhpj;j Kjy; khepyk; 

rj;jP];fh; MFk;. 
III. ,e;jpahtpy; nraw;ifNfhs; njhiyNgrpfs; nghUj;jg;gl;l Kjy; Njrpa 

G+q;fhthf fhrpuq;fh khwpAs;sJ. 
IV. Nfushtpd; fhty; Jiw Kjd;Kjyhf l;Nuhd; jlatpay; Ma;tfk; kw;Wk; 

Muha;r;rp ikaj;ij njhlq;fpAs;sJ. 
a. I, III, IV     b. I, II, IV   c. I, II, III   
d. Nkw;fz;l midj;Jk; e. tpilnjhpatpy;iy 

 
29. What is India’s rank in the global coronavirus innovation rankings for 

countries? 
a. 32  b. 26  c. 30  d. 25  e. Answer not known 
ehLfSf;fhd cyfshtpa nfhNuhdh itu]; fz;Lgpbg;G juthpirapy; 
,e;jpahtpd; juthpir vd;d? 
a. 32  b. 26  c. 30  d. 25  e. tpilnjhpatpy;iy 

 
30. Who is the first Indian woman to win two medals in the Paralympics Games? 

a. Avani Lekhara c. Bhavina Patel   c. Ekta Bhyan  
d. Kashish Lakra e. Answer not known 
ghuhxypk;gpf; Nghl;bapy; ,uz;L gjf;fq;fis ntd;w Kjy; ,e;jpa ngz; ahh;? 
a. mtdp Nyfhuh b. gtpdh gNly;   c. Vf;jh gahd;  
d. fh~p~; yf;uh e. tpilnjhpatpy;iy 
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31. Rajiv Gandhi National Park, which has been renamed as Orang National Park, 
is located in which Indian state? 
a. Andhra Pradesh  b. Karnataka    c. Assam 

 d. Uttarakhand  e. Answer not known 
uh[Pt; fhe;jp Njrpa G+q;fh> xuhq; Njrpa G+q;fh vd kWngahplg;gl;Ls;sJ> ,J 
ve;j ,e;jpa khepyj;jpy; mike;Js;sJ? 
a. Me;jpu gpuNjrk;  b. fh;ehlfk;    c. mrhk; 

 d. cj;ju;fhz;l;  e. tpilnjhpatpy;iy 
 

32. Which State / UT has adopted snow leopard and black-necked crane as state 
animal and bird? 
a. Delhi   b. Haryana    c. Punjab 

 d. Ladakh   e. Answer not known 
ve;j khepyk;/A+dpad; gpuNjrk; gdpr;rpWj;ij (k) fUq;fOj;J nfhf;Ffis 
khepy tpyq;F (k) gwitahf Vw;Wf;nfhz;lJ. 
a. nly;yp   b. `hpahdh    c. gQ;rhg;  
d. ylhf;   e. tpilnjhpatpy;iy 
 

33. How many medals have been bagged by the Indian contingent at the Tokyo 
Paralympic Games 2020? 
a. 6  b. 17  c. 19  d. 21  e. Answer not known 
Nlhf;fpNah ghuh xypk;gpf; tpisahl;L 2020-y; ,e;jpah ntd;Ws;s gjf;fq;fspd; 
vz;zpf;if? 
a. 6  b. 17  c. 19  d. 21  e. tpilnjhpatpy;iy 

 
34. Consider the following statements 

I. Kiran Desai has been awarded 7th Yamin Hazarika Woman of Substance 
Award 

II. Richard Dawkins has been awarded the Behler Turtle Conservation 
Award 

a. I is correct    b. II is correct  
c. Both are correct   d. Both are wrong 
e. Answer not known 
gpd;tUtdtw;iw ftdpf;fTk;. 
I. fpuz; Njrha;f;F 7-tJ akpd; `rhhpfh ngz; M/g; rg;];ld;]; tpUJ 

toq;fg;gl;Ls;sJ. 
II. hpr;rh;l; lhf;fpd;];> ng`;yh; lh;by; ghJfhg;G tpUJ ngw;Ws;shh; 
a. I kl;Lk; rhp   b. II kl;Lk; rhp 
c. ,uz;Lk; rhp   d. ,uz;Lk; jtW 
e. tpilnjhpatpy;iy 

 
35. Which state/UT has planned to set up India’s first Dugong Conservation 

Reserve? 
a. Karnataka  b. Andhra Pradesh   c. Goa  
d. Tamil Nadu e. Answer not known 
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,e;jpahtpd; Kjy; fly;gR ghJfhg;gfk; mikf;f ve;j khepyk;/A+dpad; gpuNjrk; 
jpl;lkpl;Ls;sJ? 
a. fh;ehlfk;   b. Me;jpugpuNjrk;   c. Nfhth   
d. jkpo;ehL  e. tpilnjhpatpy;iy 

 
36. Asian Development Bank has granted a USD 150 million loan to which state for 

a sustainable housing project for the urban poor? 
a. Gujarat  b. Tamil Nadu   c. West Bengal 

 d.  Odisha  e. Answer not known 
efh;g;Gw ViofSf;fhd epiyahd tPl;Lj; jpl;lj;jpw;fhf Mrpa tsh;r;rp tq;fp 
ve;j khepyj;jpw;F 150 kpy;ypad; mnkhpf;f lhyh; flid toq;fpAs;sJ? 
a. F[uhj;  b. jkpo;ehL    c. Nkw;F tq;fhsk;  
d. xbrh  e. tpilnjhpatpy;iy 

 
37. Tamil Nadu has partnered with which country to create an energy island in the 

Gulf of Mannar? 
a. Germany  b. Denmark       c. Japan   
d. South Korea e. Answer not known 
kd;dhh; tisFlhtpy; Mw;wy; jPit cUthf;f jkpo;ehL ve;j ehl;Lld; $l;L 
Nrh;e;Js;sJ? 
a. n[h;kdp  b. nld;khh;f;    c. [g;ghd;   
d. njd; nfhhpah e. tpilnjhpatpy;iy 

 
38. In which country, world’s largest plant to capture CO2 from air has started 

functioning? 
a. Canada   b. Japan    c. Iceland 

 d. China   e. Answer not known 
fhw;wpy; ,Ue;J CO2-I gphpj;njLf;f cyfpd; kpfg;nghpa Miy ve;j ehl;by; 
nray;glj; njhlq;fpAs;sJ? 
a. fdlh   b. [g;ghd;    c. I];yhe;J  
d. rPdh   e. tpilnjhpatpy;iy  

 
39. Which institute has been adjudged as the best higher educational institution in 

2021 in the National Institutional Ranking Framework (NIRF)? 
a. IIT Delhi  b. IISc Bangalore   c. IIT Bombay  
d. IIT Madras e. Answer not known 
Njrpa epWtd juthpir fl;likg;gpy; (NIRF) 2021-Mk; Mz;by; ve;j epWtdk; 
rpwe;j cah;fy;tp epWtdkhf Njh;T nra;ag;gl;Ls;sJ? 
a. IIT nly;yp    b. IISc ngq;f@U  
c. IIT Kk;ig    d. IIT nkl;uh]; 
e. tpilnjhpatpy;iy 

 
40. Which date in September is observed as the World Suicide Prevention Day? 

a. September 11  b. September 10  c. September 9  
d. September 12  e. Answer not known 
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nrg;lk;gh; khjj;jpy; ve;j ehspy; cyf jw;njhiy jLg;G jpdkhf 
mDrhpf;fg;gLfpwJ? 
a. nrg;lk;gh; 11  b. nrg;lk;gh; 10  c. nrg;lk;gh; 9 
d. nrg;lk;gh; 12  e. tpilnjhpatpy;iy 

 

41. Who has been appointed as the chairman of the National Commission for 
Minorities? 
a. Nalin Singhal   b. Manoj Jain 
c. Iqbal Singh Lalpura  d. Soma Mondal 
e. Answer not known 
rpWghd;ikapdUf;fhd Njrpa Mizaj;jpd; jiytuhf epakpf;fg;gl;lth; ahh;? 
a. espd; rpq;fhy;   b. kNdh[; n[apd;  
c. ,f;ghy; rpq; yhy;Guh  d. Nrhkh nkhz;ly; 
e. tpilnjhpatpy;iy 

 

42. Who is the author of the book ‘Human Rights and Terrorism in India?’ 
a. Ajit Doval  b. Subramanian Swamy  c. Bipin Rawat  
d. Shashi Tharoor e. Answer not known 
‘Human Rights and Terrorism in India vd;w Gj;jfj;ij vOjpath; ahh;? 
a. m[pj; Njhty; b. Rg;gpukzpa Rthkp  c. gpgpd; uhtj; 
d. rrp j&h;  e. tpilnjhpatpy;iy 

 

43. India has launched the Climate Action and Finance Mobilisation Dialogue with 
which country? 
a. Japan   b. Russia    c. France 

 d. United States  e. Answer not known 
,e;jpah ve;j ehl;Lld; fhyepiy eltbf;if kw;Wk; epjp jpul;ly; njhlh;ghd 
Ngr;Rthh;j;ijia njhlq;fpAs;sJ? 
a. [g;ghd;   b. u~;ah    c. gpuhd;];  
d. mnkhpf;fh   e. tpilnjhpatpy;iy 

 

44. UAE based DP World has signed a MoU for proposed investment of Rs 2,000 
crore with which state? 
a. Uttar Pradesh  b. Tamil Nadu  c. Kerala  

 d. West Bengal  e. Answer not known 
UAE-I jskhff; nfhz;l DP Nthy;L> ve;j khepyj;Jld; &. 2000 Nfhb 
KjyPl;bw;fhd Ghpe;Jzh;T xg;ge;jj;jpy; ifnaOj;jpl;Ls;sJ? 
a. cj;jpu gpuNjrk;  b. jkpo;ehL   c. Nfush   
d. Nkw;F tq;fhsk;  e. tpilnjhpatpy;iy 

 

45. Choose the correct statements 
1. Ravindra Narayan Ravi was sworn in 25th Governor of Tamilnadu 
2. A total of Rs.34,260 crores has been allocated in the Budget for Agriculture 

and allied sectors. 
3. Government of Tamilnadu launched 100 crores Rural Employment Scheme 

on the lines of MGNREG Scheme.  
a. 1, 3 only   b. 2, 3 only   c. None of these 
d. All of these  e. Answer not known 
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rhpahd $w;Wfis Njh;f 
1. utPe;jpu ehuhaz; utp jkpofj;jpd; 25tJ MSeuhf nghWg;Ngw;Ws;shh; 
2. jkpof epjpepiy mwpf;ifapy; &.34>260 Nfhb Ntshz; kw;Wk; mjd; 

njhlh;ghd JiwfSf;F xJf;fg;gl;Ls;sJ. 
3. MGNREG jpl;lj;ij Kd;khjphpahf nfhz;L jkpof muR 100 Nfhb &ghapy; 

Cuf Ntiytha;g;G jpl;lj;ij njhlq;fpAs;sJ. 
a. 1, 3 kl;Lk;   b. 2, 3 kl;Lk;   c. ,it VJkpy;iy 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 

 
46. Consider the following statements 

1. The north-south extent of India is 2933 Km  
2. The east-west extension is 3214 Km  
3. Sikkim is the smallest state (Area wise) 
4. Rajasthan is the largest state (Area wise) 
5. India’s central meridian is 82°30’ E longitude it passes through Mirzapur, 

Uttar Pradesh   
a. 3, 4, 5 are correct   b. 1, 2, 3 are incorrect  
c. 1, 2, 3 are correct   d. 1, 3, 5 are correct   
e. Answer not known 
gpd;tUk; $w;Wfis Ma;f 
1. ,e;jpah 2933 fp.kP tlf;F njw;F tiu gutpAs;sJ 
2. ,e;jpah 3214 fp.kP tiu fpof;F – Nkw;fhf gutpAs;sJ. 
3. rpf;fpk; ,e;jpahtpd; kpfr;rpwpa khepyk; (gug;gstpd;gb) 
4. uh[];jhd; ,e;jpahtpd; kpfg;ngupa khepyk; (gug;gstpd;gb) 
5. ,e;jpahtpd; kj;jpa jPu;f;fNuif vd;gJ 82°30’ fpof;F. ,J cj;jpugpuNjrj;jpy; 

kpu;rhG+u; topahf nry;fpwJ. 
a. 3> 4> 5 rhp  b. 1> 2> 3 jtW  c. 1> 2> 3 rhp  
d. 1> 3> 5 rup  e. tpilnjhpatpy;iy 

 
47. Arrange the heights of the given peaks in an ascending order  

1. Kanchenjunga   2. Nanga Parbat   3. Mt. Everest    
4. Dhaulagiri    5. Godwin Austen   6. Nanda Devi  
a. 4, 1, 6, 2, 3, 5   b. 4, 6, 2, 1, 5, 3 
c. 6, 2, 4, 1, 5, 3   d. 4, 2, 6, 1, 5, 3 
e. Answer not known  
nfhLf;fg;gl;l rpfuq;fis mtw;wpd; cauj;jpd; mbg;gilapy; VWtupirapy; 
mikf;f. 
1. fQ;rd; [q;fh  2. eq;fh gu;ghl;  3. kTd;l; vtnu];l; 
4. njsyfpup   5. fhl;tpd; M];bd;  6. ee;jh Njtp 
a. 4, 1, 6, 2, 3, 5   b. 4, 6, 2, 1, 5, 3 
c. 6, 2, 4, 1, 5, 3   d. 4, 2, 6, 1, 5, 3  
e. tpilnjhpatpy;iy 

 
48. Consider the following 

Assertion (A): All rivers originating from the Himalayas are perennial  
Reason (R): Himalayas receive much of their precipitation from south-
western monsoon    
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a. Both A and R are true and R is the correct explanation of A 
b. Both A and R are true and R is not the correct explanation of A 
c. A is true but R is false  
d. A is false but R is true    
e. Answer not known 
gpd;tUtdtw;iw Ma;f 
$w;W (A) : ,kakiyapy; cUthFk; MWfs; midj;Jk; tw;whj [Ptejpfshfj; 
jpfo;fpd;wd. 
fhuzk; (R) : ,kakiy ngUk;ghyhd kiog; nghopit njd;Nkw;F gUtj;jpd; 
%yk; ngWfpwJ. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; 
b. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd 

tpsf;fky;y 
c. (A) rup> Mdhy; (R) jtW 
d. (A) jtW Mdhy; (R) rup 
e. tpilnjhpatpy;iy 

 
49. Match the following: 

A. Bhabar plain  1. New alluvial tracts 
B. Terai Tract  2. Composed of gravels and Unassorted Sediments     
C. Khadar Plains  3. Older alluvial tracts 
D. Bhangar Plains  4. Zone of excessive dampness 
 A B C D 
a. 1 2 3 4 
b. 2 4 1 3 
c. 2 4 3 1 
d. 3 4 1 2 
e. Answer not known 
nghUj;Jf. 
A. ghgu; rkntsp  1. Gjpa tz;ly; kz; 
B. juha; kz;lyk;  2. ngUkzy;fs;> gyjug;gl;l gbTfshy;  

MdgFjp 
C. fhju; rkntsp  3. gioa tz;ly; gFjp 
D. ghq;fu; rkntsp  4. mjpf <ug;gjk; nfhz;l gFjp 
 A B C D 
a. 1 2 3 4 
b. 2 4 1 3 
c. 2 4 3 1 
d. 3 4 1 2 
e. tpilnjhpatpy;iy 
 

50. Which of the following statements about Western Coastal plain is / are correct? 
1. Northern part is Kanara 
2. Middle part is Konkan plain 
3. Southern part is Malabar coast 
4. Vembanad is a famous back water lake found in this region. 
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a. 1, 2, 3, 4 are correct b. 1,2,3 are correct 
c. Only 1, 2 are correct d. Only 3,4 are correct 
e. Answer not known 
Nkw;F flw;fiu rkntspiag; gw;wp gpd;tUk; $w;Wfspy; vit rupahdit? 
1. tlgFjp fduh   
2. kj;jpag;gFjp nfhq;fzf; flw;fiu 
3. njd;gFjp kyghu; flw;fiu. 
4. Ntk;g ehL Vup ,g;gFjpapy; cs;s Kf;fpakhd VupahFk;. 
a. 1> 2> 3> 4 rup  b. 1> 2> 3 rup   
c. 1> 2 kl;Lk; rup  d. 3> 4 kl;Lk; rup 
e. tpilnjhpatpy;iy 
 

51. The Ten Degree channel separates ____. 
a. Andaman and Nicobar   b. Nicobar and Lakshadweep 
c. Lakshadweep and Minicoy d. Nicobar and Minicoy 
e. Answer not known 
10° fhy;tha; ____ ia gpupf;fpwJ. 
a. me;jkhd; kw;Wk; epf;Nfhghu; b. epf;Nfhghu; kw;Wk; yl;rj;jPT 
c. yl;rj;jPT kw;Wk; kpdpf;fha; d. epf;Nfhghu; kw;Wk; kpdpf;;fha; 
e. tpilnjhpatpy;iy 
 

52. Which is called as Monsoon Forests? 
a. Tropical Evergreen Forest  b. Tropical Deciduous Forest 
c. Mountain Forest    d. Tropical Dry Forest 
e. Answer not known 
gUtfhyf; fhLfs; vd miof;fg;gLk; fhLfs;? 
a. madkz;ly gRikkhwhf; fhLfs; b. madkz;ly ,iyAjpu; fhLfs; 
c. kiyf; fhLfs;    d. madkz;ly twz;lf; fhLfs;  
e. tpilnjhpatpy;iy 
 

53. Which of the following statements is/are correct? 
1. Desert and semi desert vegetation are also called as “Tropical Thorn 

Forest”. 
2. These are found in the areas having annual rainfall less than 25cm. 
a. Both 1,2 are correct  b. Only 1 is correct 
c. Only 2 is correct   d. Both 1,2 are incorrect 
e. Answer not known 
gpd;tUk; $w;Wfspy; rupahdit vit? 
1. ghiytd kw;Wk; miug; ghiytdj; jhtuq;fs; nfhz;lit 

“Kl;Gju;fhLfs;” vd;Wk; miof;fg;gLfpd;wJ. 
2. ,g;gFjpfspy; Mz;L ruhrhp kiog;nghopT 25.nr.kP. f;Fk; FiwT. 
a. 1> 2 Mfpa ,uz;LNk rup b. 1 kl;Lk; rup 
c. 2 kl;Lk; rup   d. 1> 2 Mfpa ,uz;LNk jtW 

 e. tpilnjhpatpy;iy 
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54. Consider the following statements 
I. The delta of the Ganga – Brahmaputra has the largest tidal forest. 
II. The Indian Board for wildlife was constituted in 1952. 
III. Wildlife (protection) Act was enacted in 1980. 
IV. United Nations convention on Biological diversity was adopted in 1992-

1993. 
a. I, II, III, IV are correct  b. I, II, III are correct 
c. I, II, IV are correct  d. III, IV are correct 
e. Answer not known 
gpd;tUk; $w;Wfis Ma;f 
I. fq;if – gpuk;kGj;jpuh nly;lh gFjpfspy; cyfpd; kpfg; ngupa 

miyahj;jp fhLfs; cs;sd. 
II. 1952 Mk; Mz;L ,e;jpa tdtpyq;F thupak; epWtg;gl;lJ. 
III. tdtpyq;F ghJfhg;G rl;lk; 1980-,y; ,aw;wg;gl;lJ. 
IV. cyfstpyhd caphpay; gd;Kfj;jd;ik jPh;khdk; If;fpa ehLfs; 

rigahy; 1992-93,y; Vw;Wf;nfhs;sg;gl;lJ. 
a. I, II, III, IV rup   b. I, II, III rup   c. I, II, IV rup  
d. III, IV rup    e. tpilnjhpatpy;iy 
 

55. Consider the following 
Assertion (A) : The Nilgiri Tahr is facing a major threat in the Western Ghats. 
Reason (R): It is due to Continuous poaching activities and Eucalyptus 
cultivation. 
a. Both (A) and (R) are true, and (R) is the correct explanation of (A) 
b. Both (A) and (R) are true, and (R) is not the correct explanation of (A) 
c. (A) is True, but (R) is false 
d. (A) is false but (R) is true 
e. Answer not known 
$w;W (A) : ePyfpup tiuahL Nkw;Fj; njhlu;r;rp kiyapy; mr;RWj;jy;fis 
vjpu;nfhs;fpwJ. 
fhuzk; (R) : njhlu;r;rpahd Ntl;ilahLjy;> Afpypg;l]; rhFgb nra;jyhy; 
,t;thW elf;fpwJ 
a. (A) kw;Wk; (R) ,uz;Lk; rup NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) kw;Wk; (R) ,uz;Lk; rup NkYk; (R) vd;gJ (A) tpw;F rupahd 

tpsf;fky;y. 
c. (A) rup> Mdhy; (R) jtW. 
d. (A) jtW> Mdhy; (R) rup. 
e. tpilnjhpatpy;iy 

 
56. Which of the following statements is/are correct? 

1. The Indian government has established 18 biosphere reserves. 
2. Eleven of the eighteen biosphere reserves fall under the list of Man and the 

Biosphere programme of UNO. 
a. Both 1,2 are correct  b. Only 1 is correct 
c. Only 2 is correct   d. Both 1,2 are incorrect 
e. Answer not known 
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gpd;tUk; $w;Wfspy; vit rupahdit? 
1. ,e;jpahtpy; 18 capu;f;Nfhs fhg;gfq;fs; cs;sd. 
2. ,e;jpahtpd; 18 capu;f;Nfhs fhg;gfq;fspy; 11 fhg;gfq;fs; I.eh.tpd; kdpjd; 

kw;Wk; capu;f;Nfhs fhg;gf jpl;lj;jpd; fPo; nray;gLfpwJ. 
a. 1> 2 Mfpa ,uz;LNk rup  b. 1 kl;Lk; rup 
c. 2 kl;Lk; rup    d. 1> 2 Mfpa ,uz;LNk jtW 
e. tpilnjhpatpy;iy 
 

57. Climate of India is labelled as ____. 
a. Tropical Humid   b. Tropical Monsoon Climate 
c. Equatorial Climate  d. Temperate Climate 
e. Answer not known 
,e;jpahtpd; fhyepiy _____ Mf ngauplg;gl;Ls;sJ. 
a. mad kz;ly <uf; fhyepiy b. madkz;ly gUtf;fhw;W fhyepiy 
c. epyeLf;Nfhl;L fhyepiy  d. kpj mad kz;lyf; fhyepiy 
e. tpilnjhpatpy;iy 

 
58. The origin of the idea of “Swadeshi”, which was popularized by 

a. B.G.Tilak     b. Pheroz Shah Mehta 
c. Lala Lajpat Rai   d. M.G. Ranade 
e. Answer not known 
RNjrp jj;Jtj;jpd; Njhw;wkhdJ ahuhy; gpugyg;gLj;jg;gl;lJ? 
a. B.G. jpyf;     b. ngNuh ~h Nkj;jh 
c. yhyh y[gjpuha;   d. M.G. uhdNl  
e. tpilnjhpatpy;iy 

 

59. Who was the founder of the “Swadeshi Dharma Sanga Weaving Association”? 
a. V. Chakkaraiyan   b. Subramanya Siva 
c. V. O. C.   d. Subramanya Barathi 
e. Answer not known 
“RNjrp jh;k rq;f E}w;ghiy” rq;fj;ij epWtpath; ahh;? 
a. V. rf;fiuad;  b. Rg;gpukzpa rpth 
c. t. c. rp   d. Rg;gpukzpa ghujp 
e. tpilnjhpatpy;iy 
 

60. Who among the following Muslim leaders were prominent in the Khilafat 
Movement (1919-24). 
1. Maulana Abul Kalam Azad.  2. M.A. Ansari 
3. Sir Syed Ahmed Khan   4. Maulana Shaukat Ali 
a. 1 & 2 only   b. 2, 3, 4 only   c. 1 & 3 only  
d. 1, 2, 4 only   e. Answer not known 
gpd;tUtdtw;Ws; fpyhgj; ,af;fj;jpy; Gfo;ngw;w Kf;fpa K];ypk; jiyth;fs; 
ahh;? 
1. nksyhdh mGy; fyhk; Mrhj;  2. M.A. md;rhhp 
3. rh; iraJ mfkJ fhd;   4. nksyhdh nrsfj; myp 
a. 1 & 2 kl;Lk;  b. 2> 3> 4 kl;Lk;  c. 1 & 3 kl;Lk;  
d. 1> 2> 4 kl;Lk;  e. tpilnjhpatpy;iy 
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61. The demands of Khilafat Movement were presented to the diplomat’s in  Paris 
in March 1920 by ___ 
a. Shaukat Ali   b. Mohammad Ali 
c. M.A. Ansari   d. Abul Kalam Azad 
e. Answer not known 
khu;r; 1920 ghuPrpy;> fpyhgj; ,af;fj;jpd; Nfhupf;iffisj; J}jhz;ik 
mjpfhupfspilNa rku;g;gpj;jth; ______. 
a. nrsfj; myp   b. KfkJ myp 
c. M.A. md;rhhp   d. mGy; fyhk; Mrhj; 

 e. tpilnjhpatpy;iy 
 
62. The calligrapher of the Indian Constitution is __________ 

a. S.N. Mukherjee    b. Beohar Rammanohar Sinha 
c. Prem Behari Narain Raizada  d. H.V.R. Iyengar 
e. Answer not known 
,e;jpa murpayikg;gpw;F vOj;J fiy tbtk; nfhLj;jth; ________ 
a. S.N. Kfh;[p    b. ng`h; uhk;kNdhfh; rpd;`h 
c. gpNuk; ng`hhp ehuhaz; urhlh  d. H.V.R. Iaq;fhh; 
e. tpilnjhpatpy;iy 
 

63. Consider the following statements relating to the sources of the constitution. 
I. Provision relating to the Election of members to Rajya Sabha was 

borrowed from the South African constitution. 
II. Provision relating to the concurrent list was borrowed from the 

Australian constitution 
III. Provisions relating to the concept of ideals of Justice was borrowed from 

the French Constitution 
IV. Provision related to the Suspension of Fundamental Rights during 

emergency was borrowed from the German Constitution  
a. I, II and IV is true  b. II and IV is true 
c. I and III is true   d. I alone is true 
e. Answer not known 
murikg;G %yq;fs; njhlh;ghd gpd;tUk; $w;Wfis Ma;f 
I. khepyq;fsit cWg;gpdh;fs; Njh;T njhlh;ghd murikg;G $Wfs; 

njd;dhg;gphpf;f murpayikg;gpypUe;J ngwg;gl;lJ. 
II. nghJg;gl;bay; njhlh;ghd murikg;G $Wfs; M];jpNuypa 

murpayikg;gpypUe;J ngwg;gl;lJ. 
III. ePjpapd; khz;Gfs; njhlh;ghd murikg;G $Wfs; gpuhd;R 

murpayikg;gpypUe;J ngwg;gl;lJ. 
IV. mtru fhyq;fspd;NghJ mbg;gil chpikfs; uj;J nra;jy; njhlh;ghd 

$Wfs; n[h;kd; murpayikg;gpypUe;J ngwg;gl;lJ. 
a. I, II kw;Wk; IV rhp   b. II kw;Wk; IV rhp 
c. I kw;Wk; III rhp   d. I kl;Lk; rhp 
e. tpilnjhpatpy;iy 
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64. The Right of Children to Free and Compulsory Education (RTE) Act, was 
enacted in 
a. 2002   b. 2009  c. 2003  d. 2010 
e. Answer not known 
Foe;ijfSf;fhd ,ytr kw;Wk; fl;lhaf; fy;tp chpikr; rl;lk; (RTE) 
,aw;wg;gl;l Mz;L  
a. 2002   b. 2009  c. 2003  d. 2010 
e. tpil njhpatpy;iy 
 

65. Which among the following statement justifies the Federal feature of the Indian 
Constitution? 
a. India has indestructible Union with indestructible states 
b. India has destructible Union with destructible states 
c. India has destructible states with indestructible union 
d. India has destructible Union with indestructible states 
e. Answer not known 
gpd;tUk; $w;Wfspy; vJ ,e;jpa murpayikg;gpd; $l;lhl;rp rpwg;gk;rj;ij 
vLj;Jiuf;fpwJ? 
a. ,e;jpah rpijf;f Kbahj xd;wpaKk; rpijf;fKbahj khepyq;fSk; nfhz;l 

Ml;rp Kiw cilajhFk;. 
b. ,e;jpah rpijf;fj;jf;f xd;wpaKk; rpijf;fj;jf;f khepyq;fSk; nfhz;l 

Ml;rp Kiw cilajhFk;. 
c. ,e;jpah rpijf;fj;jf;f khepyq;fSk; rpijf;f Kbahj xd;wpaKk; nfhz;l 

Ml;rp Kiw cilajhFk;. 
d. ,e;jpah rpijf;fj;jf;f xd;wpaKk; rpijf;f Kbahj khepyq;fSk; nfhz;l 

Ml;rp Kiw cilajhFk;. 
e. tpil njhpatpy;iy 

 
66. Match list I (committees) with List II (chairman of the Committees) and 

choosing the correct answer using the options given below 
List I (Committees)    List II (Heads) 

 A. Provincial Constitution Committee 1. Pattabhi Sitaramayya 
 B. States Committee    2. Dr. Rajendra Prasad 
 C. Steering Committee   3. Sardar Patel 
 D. House Committee   4. Jawaharlal Nehru 
  A B C D 
 a. 3 4 1 2 
 b. 3 2 4 1 
 c. 3 4 2 1 
 d. 3 1 2 4 

e. Answer not known 
 FOf;fis mjd; jiyth;fSld; nghUj;Jf 
 gl;bay; I (FOf;fs;)   gl;bay; II (jiyth;fs;) 
 A. khfhz murpayikg;G FO  1. gl;lhgp rPjhuhka;ah 
 B. khepyq;fs; FO    2. lhf;lh;. ,uhN[e;jpu gpurhj; 
 C. topfhl;L FO    3. rh;jhh; gl;Nly; 
 D. mitf;FO    4. [t`h;yhy; NeU 
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  A B C D 
 a. 3 4 1 2 
 b. 3 2 4 1 
 c. 3 4 2 1 
 d. 3 1 2 4 

e. tpilnjhpatpy;iy 
 

67. Consider the following statement with regards to the impact of Indian 
Independence Act of 1947, on the Constituent Assembly 
I. The Constituent Assembly was made a fully sovereign body 
II. The Assembly was made a legislative body, chaired by G.V. Mavlankar 
III. The total strength of the assembly came down to 289 as against 389 
IV. The Muslim League members withdrew from the Constituent Assembly 

of India. 
a. All are true   b. I, II and III are true 
c. I, II and IV are true  d. II, III and IV are true 
e. Answer not known 
,e;jpa tpLjiyr;rl;lk; 1947 murpayikg;G eph;za rigapy; Vw;gLj;jpa jhf;fk; 
njhlh;ghd gpd;tUk; $w;Wfis Ma;f 
I. KO ,iwahz;ik nfhz;l mikg;ghf murpay; eph;za rig khwpaJ 
II. murpay; eph;za rigahdJ G.V. kht;yhq;fupd; jiyikapd;fPo; 

rl;lkpaw;Wk; mikg;ghf khwpaJ. 
III. rigapd; nkhj;j vz;zpf;if 389ypUe;J 289 Mf Fiwe;jJ. 
IV. ,e;jpa murpay; eph;za rigapypUe;J K];yPk; yPf; cWg;gpdh;fs; 

ntspNawpdh;. 
a. midj;Jk; rhp   b. I, II kw;Wk; III rhp 
c. I, II kw;Wk; IV rhp   d. II, III kw;Wk; IV rhp 
e. tpilnjhpatpy;iy 
 

68. Consider the following statements with regard to the functions performed by 
the constituent assembly 
I. It adopted the National Flag on January 24, 1950 
II. It adopted the National Anthem on January 24, 1950 
III. It adopted the National Song on January 24, 1950 
IV. On 24th January, 1950 the Constituent Assembly held its final session 
Of them 
a. I is true   b. II and III are false 
c. I and IV are false  d. II, III and IV are true 
e. Answer not known 
murpayikg;G eph;za rigapd; gzpfs; njhlh;ghd $w;Wfis Ma;f 
I. [dthp 24> 1950,y; Njrpa nfhbia Vw;Wf;nfhz;lJ 
II. [dthp 24> 1950,y; Njrpa fPjj;ij Vw;Wf;nfhz;lJ. 
III. [dthp 24> 1950,y; Njrpa ghliy Vw;Wf;nfhz;lJ. 
IV. [dthp 24> 1950,y; murpay; eph;za rig mjd; ,Wjp $l;lj;ij 

elj;jpaJ. 
a. I rhp   b. II kw;Wk; III jtW 
c. I kw;Wk; IV jtW  d. II, III, IV rhp 
e. tpilnjhpatpy;iy 
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69. Match the following (Interim Government 1946) 
Members     Portfolio 

 A. C. Rajagopalachariar   1. External Affairs 
 B. Dr. Rajendra Prasad    2. Home, Information and  

Broadcasting 
 C. Sardar Vallabhbhai Patel  3. Food and Agriculture 
 D. Jawaharlal Nehru   4. Education and Arts 
  A B C D 
 a. 4 1 2 3 
 b. 2 3 1 4 
 c. 4 3 2 1 
 d. 1 2 3 4 

e. Answer not known 
 nghUj;Jf (,ilf;fhy muR 1946) 
 A. C. uh[Nfhghyr;rhhpahh;   1. ntspAwT tptfhuk; 
 B. lhf;lh;. ,uhN[e;jpugpurhj;  2. cs;Jiw> jfty; kw;Wk;  

xspg;gug;G 
C. rh;jhh; ty;ygha; gl;Nly;   3. czT kw;Wk; Ntshz;ik 
D. [t`h;yhy;NeU    4. fy;tp kw;Wk; fiy 

  A B C D 
 a. 4 1 2 3 
 b. 2 3 1 4 
 c. 4 3 2 1 
 d. 1 2 3 4 

e. tpilnjhpatpy;iy 
  

70. Consider the following statement Relating to Drafting Committee 
I. The Drafting Committee prepared the first Draft of the Constitution of 

India, which was published on October 1948 
II. The Motion on Draft Constitution was declared as passed, by the 

Constituent Assembly on November 26, 1949 and the signatures of the 
members and the President were obtained. 

Of them 
a. I is true   b. II is true   
c. I and II is false  d. I and II is true 
e. Answer not known 
tiuTf; FO njhlh;ghd $w;Wfis Ma;f 
I. tiuTf;FO ,e;jpa murpayikg;gpd; Kjy; tiutpid jahhpj;J 

mf;Nlhgh; 1948,y; ntspapl;lJ. 
II. murpayikg;gpd; tiuT etk;gh; 26> 1949,y; murpayikg;G eph;za 

rigahy; jPh;khdk; epiwNtw;wg;gl;L jiyth; kw;Wk; cWg;gpdh;fspd;; 
ifnahg;gk; ngwg;gl;lJ. 

a. I rhp   b. II rhp 
c. I kw;Wk; II jtW  d. I kw;Wk; II rhp 
e. tpilnjhpatpy;iy 
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71. Choose the correct statements on the Constituent Assembly 
1. The total strength of the Constituent Assembly was 389 
2. Election to the Constituent Assembly was held in July - August 1946 
3. Members of the Constituent Assembly were directly elected based on the 

Universal Adult Franchise  
4. Among 296 seats allotted to British India, The Indian National Congress 

won 208 seats, Muslim League won 79 seats, Independent got the remaining 
9 seats. 

a. 1, 3 and 4  b. 1 and 4    c. 1 and 3        
d. 1 and 2  e. Answer not known 
gpd;tUk; $w;Wfspy; murpay; eph;za rig gw;wp rhpahdit vit? 
1. murpay; eph;za rigapd; nkhj;j cWg;gpdh;fspd; vz;zpf;if 389 
2. murpay; eph;za rigf;fhd Njh;jy; [{iy> Mf];l; 1946-,y; eilngw;wJ. 
3. murpay; eph;zarigapd; cWg;gpdh;fs; taJ te;Njhh; thf;Fhpik 

mbg;gilapy; Neubahf Njh;e;njLf;fg;gl;ldh;. 
4. gphpl;b~; ,e;jpahtpw;F xJf;fg;gl;l 296 ,lq;fspy; ,e;jpa Njrpa fhq;fpu]; 

208 ,lq;fspYk;> K];yPk; yPf; 79 ,lq;fspYk;> RNal;ir cWg;gpdh;fs; 9 
,lq;fspYk; ntw;wp ngw;wdh;. 

a. 1> 3 kw;Wk; 4 b. 1 kw;Wk; 4    c. 1 kw;Wk; 3  
d. 1 kw;Wk; 2  e. tpilnjhpatpy;iy 
 

72. In tradition, the characters of Sovereignty include 
I. Absoluteness and Permanence 
II. Absoluteness, Permanence, Universality 
III. Absoluteness, Permanence, Universality and inalienability. 
IV. Absoluteness and University 
a. I    b. II      c. III   
d. IV    e. Answer not known 
njhd;W njhl;L ,iwahz;ik gz;ghdJ  
I. KOikahdJ epue;jukhdJ  
II. KOikahdJ> epue;jukhdJ> midtUf;FkhdJ  
III. KOikahdJ> epue;jukhdJ> midtUf;FkhdJ khw;wpj;ju ,ayhJ  
IV. KOikahdJ> midtUf;FkhdJ  
a. I    b. II      c. III   
d. IV    e. tpilnjhpatpy;iy 

 
73. Which among the following statement regarding the State is incorrect? 

I. The state has fixed Territory. 
II. The state has the Power to enforce laws 
III. The state is a social organisation. 
IV. The scope of the state is limited. 
a. I   b. II      c. III    
d. IV  e. Answer not known 
muR gw;wpa $w;wpy;> fPo;f;fz;l thf;fpaj;jpy; jtwhdJ vJ?  
I. muRf;F xU epiyahd epyg;gug;G cz;L  
II. murpw;F rl;lq;fis eilKiwg;gLj;Jk; mjpfhuk; cs;sJ 
III. muR vd;gJ xU r%f mikg;ghFk;  
IV. murpd; vy;iy tiuaWf;fg;gl;lJ  
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a. I   b. II      c. III    
d. IV   e. tpilnjhpatpy;iy 

 
74. Choose the correct statement/s 

1. The level of economic development is indicated by GDP 
2. Indian economy is the seventh largest economy of the world 
3. Large population is one of the strength of Indian Economy 
a. 1, 3 only   b. 2 only    c. 1, 2 only  
d. All of these  e. Answer not known 
rhpahd $w;Wfis fz;lwpf 
1. nghUshjhu Kd;Ndw;wk; vd;gJ me;ehl;bd; nkhj;j cs;ehl;L cw;gj;jpia 

nghWj;J mikAk;. 
2. ,e;jpa nghUshjhuk; cyfpd; VohtJ nghpa nghUshjhukhFk;. 
3. mjpf kf;fs;njhif ,e;jpa nghUshjhuj;jpd; typikfSs; xd;whFk;. 
a. 1> 3 kl;Lk;  b. 2 kl;Lk;    c. 1> 2 kl;Lk; 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

75. Which of the following are the reasons for nationalization of commercial 
banks? 
1. Private ownership of commercial banks 
2. Urban – bias 
3. Neglect of Agricultural sector. 
4. Speculative activities 
a. 1, 2   b. 1, 2, 3    c. 1, 3, 4   
d. 1, 2, 3, 4  e. Answer not known 
fPo;fhZgtw;wpYs;s ve;j fhuzq;fspdhy; tzpf tq;fpfs; 
ehl;Lilikahf;fg;gl;ld? 
1. tzpf tq;fpfs; jdpahh; Kjyhspj;Jtk; fPo; ,Ue;jJ. 
2. efh;Gwq;fspy; kl;LNk mike;jpUe;jd. 
3. Ntshz;ikj; Jiwia Gwf;fzpj;jJ. 
4. Cf Nehf;fq;fis nfhz;L nray;gl;lJ. 
a. 1, 2   b. 1, 2, 3    c. 1, 3, 4   
d. 1, 2, 3, 4  e. tpilnjhpatpy;iy 
 

76. First public sector Iron and Steel plant was set up in ____ 
a. 1907, Jamshedpur  b. 1919, Burnpur  c. 1923, Badravathi  
d. 1973, Salem  e. Answer not known 
,e;jpahtpy; Kjd; Kjypy; ,Uk;G kw;Wk; v/F cw;gj;jpfhd nghJj;Jiw 
njhopw;rhiy vq;F Muk;gpf;fg;gl;lJ _____. 
a. 1907> [hk;n~l;G+u;  b. 1919> gh;d;G+u;  c. 1923> gj;uhtjp  
d. 1973> Nryk;  e. tpilnjhpatpy;iy 

 
77. Consider the following statements regarding the National Population Policy, 

2000. 
1. Bringing total fertility rate to replacement level of 2.1 by 2010. 
2. To stabilize the population by 2046. 

a. 1 alone is correct  b. 2 alone is correct  c. Both are correct  
d. Both are wrong  e. Answer not known 
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gpd;tUk; thf;fpaq;fspy; Njrpa kf;fs;njhif nfhs;if – 2000 
njhlh;ghditfis ftdpf;f: 
1. fUTW tpfpjk; 2010 Mk; Mz;bw;Fs; 2.1 tpfpjkhf Fiwg;gJ; 
2. ,jd; %yk; 2046-,y; kf;fs; njhifapy; Xh; epiyahd Nghf;fpid miltJ. 
a. 1 kl;Lk; rhp  b. 2 kl;Lk; rhp  c. ,uz;Lk; rhp  
d. ,uz;Lk; jtW  e. tpilnjhpatpy;iy 

 
78. Which of the following are the objectives of planning? 

I. Reducing inequalities 
II. To raise national income 
III. To expand employment opportunities 
IV. To remove bottleneck in agriculture 
a. I, II    b. I, II, III    c. II, III, IV  
d. all of these  e. Answer not known 
fPo;fhZgtw;wpy; jpl;lq;fspd; Nehf;fq;fs; vit? 
I. rkj;Jtkpd;ikia Fiwg;gJ. 
II. Njrpa tUkhdj;ij cah;j;JtJ 
III. Ntiytha;g;gpid mjpfhpj;jy; 
IV. Ntshz;ikapd; ,lh;ghLfis mfw;Wjy;. 
a. I, II    b. I, II, III    c. II, III, IV  
d. ,itaidj;Jk;  e. tpilnjhpatpy;iy 
 

79. Choose incorrect pair 
a. First Five Year Plan – Harrod, Domar 
b. Second Fiver Year Plan – P.C. Mahalanobis 
c. 4th Five Year Plan – Manne, Rudra 
d. 6th Fiver Year Plan – D.P. Dhar 
e. Answer not known 
nghUj;jkw;w ,izapid Rl;bfhl;Lf: 
a. Kjy; Ie;jhz;L jpl;lk;  - `uhL kw;Wk; Nlhkh; 
b. ,uz;lhk; Ie;jhz;L jpl;lk; - gp.rp. k`yNehgp]; 
c. ehd;fhtJ Ie;jhz;L jpl;lk; - Nkdp kw;Wk; &j;uh 
d. MwhtJ Ie;jhz;L jpl;lk; - D.P. jhh; 
e. tpilnjhpatpy;iy 

 

80. NITI Ayog was formed on January 1, 2015 through _____ 
a. legislative action   b. cabinet resolution 
c. Constitutional article  d. None of these 
e. Answer not known 
epjp MNahf;fhdJ [dtup 1> 2015 Mk; Mz;L ____ %yk; cUthf;fg;gl;lJ. 
a. rl;lG+h;t eltbf;if  b. ke;jphp rig jPh;khdk; 
c. murpay; rhrd $W  d. ,it vJTkpy;iy 
e. tpilnjhpatpy;iy 

 

81. Choose incorrect pair 
a. Golden revolution – Fruits  b. Black revolution – Leather 
c. Blue revolution – Fish   d. Red revolution – Meat 
e. Answer not known 
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jtwhd ,izapid Fwpg;gpLf:- 
a. jq;fg; Gul;rp – goq;fs;  b. fUg;G Gul;rp – gjdpl;l Njhy;fs; 
c. ePyg;Gul;rp – kPd;   d. rptg;G Gul;rp – khkprk; 
e. tpilnjhpatpy;iy 

 
82. Consider the following statements 

I. India emerged as world’s fastest growing economy in 2016-17 
II. Growth rate in 2016-17 is 7.1% in GDP next to USA 
a. I alone is correct  b. II alone is correct 
c. Both are correct  d. Both are wrong 
e. Answer not known 
fPo;fhZk; thf;fpaq;fis ftdpf;f: 
I. ,e;jpahthdJ 2016-17 Mz;bd;gb cyfstpy; kpfTk; Ntfkhf tsUk; 

nghUshjhukhf ,Uf;fpd;wJ. 
II. 2016-17 ,e;jpahtpd; nkhj;j cs;ehl;L cw;gj;jpapd; tsu;r;rp tPjk; 7.1 

rjtPj vd;w mstpy; mnkhpf;f  ehLf;F mLj;j ,lj;jpy; ,Uf;fpd;wJ. 
a. I kl;Lk; rhp  b. II kl;Lk; rhp  c. ,uz;Lk; rhp   
d. ,uz;Lk; jtW e. tpilnjhpatpy;iy 

 

83. Which year is known as year small divide? 
a. 1921 b. 1951 c. 1961  d. 1971 e. Answer not known 
rpWgpsT vdg;gLk; Mz;L vJ? 
a. 1921 b. 1951 c. 1961  d. 1971 e. tpilnjhpatpy;iy 
 

84. Consider the following statements 
Assertion (A): During inflation, debtors are the gainers while the creditors are 
losers. 
Reason (R): The debtors had borrowed when the purchasing power of money 
was high and now repay the loans when the purchasing power of money is low 
due to rising prices. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A) 
b. (A) is true, but (R) is false 
c. (A) is false but (R) is true  
d. Both (A) and (R) are true and (R) is not the correct explanation of (A) 
e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
$w;W (A):  gztPf;f fhyj;jpy; fld; ngw;Nwhu; Mjhaj;ijAk;> fld; 
toq;fpNahu; ,og;igAk; re;jpf;fpd;wdu;. 
fhuzk; (R): fld; thq;fpanghOJ gzkjpg;G cau;thfTk; gztPf;f 
fhyj;jpy; jpUg;gpr; nrYj;Jk; nghOJ gzkjpg;G Fiwthf ,Ug;gjhy; fld; 
thq;fpNahu; Mjhakilfpd;wdu;. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) rup> Mdhy; (R) jtW 
c. (A) jtW> Mdhy; (R) rup 
d. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; 

my;y 
e. tpilnjhpatpy;iy 
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85. Consider the following statements. 
Assertion (A):Indirect taxes are sometimes unjust and regressive in  nature. 
Reason (R): In this tax both rich and poor persons have to pay some amount 
as taxes irrespective of their income level. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A). 
b. (A) is true, but (R) is false 
c. (A) is false, but (R) is true 
d. Both (A) and (R) are true and (R) is not the correct explanation of (A). 
e. Answer not known 
gpd;tUtdtw;iw Ma;f. 
$w;W (A): kiwKftupfs; rpy Neuq;fspy; ePjpaw;w kw;Wk; Nja;tPj jd;ik 
nfhz;lJ. 
fhuzk; (R): ,t;tupapy; tUkhd kl;lj;jpw;F mg;ghw;gl;L Vio kw;Wk;  
gzf;fhuu;fs; Mfpa ,UtUk; xNu tupj;njhifia nrYj;j Ntz;Lk;. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) rup> Mdhy; (R) jtW 
c. (A) jtW> Mdhy; (R) rup 
d. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; 

my;y 
e. tpilnjhpatpy;iy 

 
86. Choose the correct statements. 

A. Gandhi, on return to India, actively participated in the Home Rule 
Movement. 

B. He established his ashram at Sabarmati. 
a. (A) is correct, (B) wrong  b. Both (A) & (B) are correct 
c. (A) is wrong, (B) is correct d. Both (A & (B) are wrong 
e. Answer not known 
rhpahd $w;iwj; Njhe;njL 
A. fhe;jp> ,e;jpah jpUk;gpa gpwF jd;dhl;rp ,af;fj;jpy; Jbg;Gld; gq;Nfw;whh;. 
B. mth;> rgh;kjpapy; Mrpukj;ij Njhw;Wtpj;jhh;. 
a. (A) rhp> (B) jtW  b. (A) & (B) ,uz;Lk; rhp 
c. (A) jtW (B) rhp   d. (A) & (B) ,uz;Lk; jtW 
e. tpilnjhpatpy;iy 
 

87. Who among the following Indigo cultivator in Bihar, invited Gandhi to 
Champaran? 
a. Acharya Kripalani  b. Mazharul-Hag 
c. Rajendra Prasad   d. Rajkumar Sukla 
e. Answer not known 
gpd;tUgth;fspy; fhe;jpia gPfhhpYs;s rhk;guhDf;F mioj;j ,z;bNfh 
tptrhap ahh;? 
a. Mr;rhh;ah fpUghydp  b. k`Uy; `f; 
c. uhN[e;jpu gpurhj;   d. uh[;Fkhh; Rf;yh 
e. tpilnjhpatpy;iy 
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88. Who among the following person/s participated with Gandhiji in Khedha 
Satyagraha (1918)? 
1. Vallabai Patel   2. Indulal Yagnik 
3. Rajendra Prasad   4. Vitthalbai Patel 
Choose correct codes. 
a. 1 only  b. 1 and 2 only  c. 3 and 4 only  
d. 1, 2, 4 only  e. Answer not known 
gpd;tUgth;fSs; Nfjh rj;ahfpufj;jpy; (1918) fhe;jp[p cld; fye;J 
nfhz;lth;fs; 
1. ty;ygha; gNly;   2. ,e;Jyhy; ahf;dpf; 
3. ,uhN[e;jpu gpurhj;  4. tpj;jy;gha; gNly; 
rhpahdij Njh;T nra;f. 
a. 1 kl;Lk;    b. 1 kw;Wk; 2 kl;Lk;  
c. 3 kw;Wk; 4 kl;Lk;   d. 1> 2> 4 kl;Lk; 
e. tpilnjhpatpy;iy 
 

89. The Headquarters of Servants of India Society was established at  
a. Bombay  b. Pune   c. Nagpur  
d. Noida   e. Answer not known 

 ,e;jpa gzpahsh; rq;fj;jpd; jiyikafk; mike;Js;s ,lk; ______ 
a. gk;gha;  b. g+dh   c. ehf;g+h; 
d. neha;lh  e. tpil njhpatpy;iy 

 
90. Who was the first law-member of the Governor-General in council from 1834 - 

38? 
a. Sachidanand Sinha  b. Marques Hastings 
c. Raja Rammohan Roy  d. T.B. Macaulay 
e. Answer not known 
1834 – 38 tiu fth;dh; n[duy; fTd;rpypd; Kjy; rl;l cWg;gpdh; ahh;? 
a. rr;rpjhde;j rpd;`h  b. khh;Ftp]; N`];bq;]; 
c. ,uh[h uhk; Nkhfd;uha;  d. b.gp. nkf;fhNy 
e. tpilnjhpatpy;iy 

 
91. Match the following  

A. Brahmo Samaj   1. 1875 
B. Prathna Samaj   2. 1876 
C. Arya Samaj   3. 1828 
D. Advaidananda Sabha  4. 1867 

  A B C D 
 a. 1 2 3 4  
 b. 3 4 1 2  
 c. 3 4 2 1  
 d. 2 4 3 1 

e. Answer not known 
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nghUj;Jf 
A. gpuk;k rkh[k;   1. 1875  
B. gpuhj;jdh rkh[k;   2. 1876 
C. Mh;a rkh[k;   3. 1828 
D. mj;itjhde;j rig  4. 1867 

  A B C D 
 a. 1 2 3 4  
 b. 3 4 1 2  
 c. 3 4 2 1  
 d. 2 4 3 1  

e. tpilnjhpatpy;iy 
 

92. Match the following 
INC Session   Year 
A. Gaya   1. 1916 
B. Belgaum   2. 1929 
C. Lucknow   3. 1924 
D. Lahore   4. 1922 

A B C D 
 a. 1 2 3 4 
 b. 2 1 3 4 
 c. 4 3 1 2 

d. 3 4 1 2 
e. Answer not known 
nghUj;Jf 
,e;jpa Njrpa fhq;fpu]; khehL Mz;L 
A. fah   1. 1916 
B. ngy;fhk;   2. 1929 
C. yf;Ndh   3. 1924 
D. yh$h;   4. 1922 

A B C D 
 a. 1 2 3 4 
 b. 2 1 3 4 
 c. 4 3 1 2 

d. 3 4 1 2 
e. tpilnjhpatpy;iy 
 

93. The Two nation theory first came from. 
a. M.A. Jinnah  b. Mohammed Iqbal 
c. Rahamat Ali  d. Wazir Hasan 
e. Answer not known 
Kjd;Kjypy; ,U ehl;L nfhs;ifia ntspapl;lth; ahh;? 
a. M.A. [pd;dh  b. KfkJ ,f;ghy; 
c. ,ufkj; myp  d. thrph; `hrd; 
e. tpilnjhpatpy;iy 
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94. All-India Hindu Mahasabha was started with Head quarters at 
a. Benaras  b. Haridwar   c. Dehra Dun  
d. Allahabad  e. Answer not known 
mfpy ,e;jpa ,e;J kfh rigapd; jiyikaplk; vq;F njhlq;fg;gl;lJ. 
a. gdhu];  b. `hpj;Jthh;  c. Nluh^d;   
d. myfhghj;  e. tpilnjhpatpy;iy 

 
95. Arrange the following in chronological order. 

1. Royal Indian Navy revolt.  2. Wavell’s plan. 
3. Simla conference.    4. Cabinet mission plan. 
a. 2, 1, 4, 3  b. 3, 2, 1, 4   c. 2, 4, 1, 3   
d. 2, 3, 1, 4  e. Answer not known 
gpd;tUtdtw;iw fhythpirg;gb thpirg;gLj;jTk;. 
1. ,uhay; ,e;jpa flw;gil fpsh;r;rp  2. Ntty; jpl;lk; 
3. rpk;yh khehL    4. mikr;ruit J}Jf;FO jpl;lk; 
a. 2, 1, 4, 3  b. 3, 2, 1, 4   c. 2, 4, 1, 3   
d. 2, 3, 1, 4  e. tpilnjhpatpy;iy 
 

96. “Individual Satyagraha” was started by the Congress in response to ______. 
a. Dominion status   b. August offer 
c. War advisory council  d. To draft a constitution  
e. Answer not known 
fhq;fpu]; vf;fhuzj;jpw;fhf “jdpegh; rj;jpahfpufj;ij” njhlq;fpaJ. 
a. jd;dhl;rp mjpfhuk;  b. Mf];l; nfhil 
c. Nghh; MNyhridf; FO  d. murpayikg;Gr; tiutpid cUthf;Fjy; 
e. tpilnjhpatpy;iy 
 

97. Which among the following is not a unique feature of Harappan civilization 
Regarding Town Planning? 
1. The streets are to have grid pattern.  
2. The citadel had important residential structure.  
3. Great Bath is situated within courtyard. 
4. There are conclusive evidence of palaces or place of worship. 
Select the codes 
a. 4 & 2 only  b. 2, 3 only   c. 2, 3, 4 only   
d. 4 only  e. Answer not known 
gpd;tUtdtw;Ws; `ug;g gz;ghl;bd; efu mikg;G gw;wpa jdpr;rpwg;G ,y;yhjJ 
vJ? 
1. njUf;fs; rl;lf tbtikg;igf; nfhz;bUe;jd. 
2. Nfhl;ilg; gFjp Kf;fpaj;Jtk; tha;e;j ,Ug;gplj;Jf;fhd mikg;GfSld; 

fhzg;gLfpwJ. 
3. ngUk; Fsk; vd;gJ Kw;wj;Jld; $ba xU nghpa Fsj;jpd; xU gFjp. 
4. muz;kidfs; kw;Wk; topghl;L jyq;fs; gw;wpa cWjpahd Mjhuk; cs;sJ. 
FwpaPLfis Njh;T nra;f. 
a. 4> 2 kl;Lk;  b. 2> 3 kl;Lk;   c. 2> 3> 4 kl;Lk;  
d. 4 kl;Lk;  e. tpilnjhpatpy;iy 
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98. Consider the statements: 
1. Harappa had close contact with Mesopotamia.  
2. Cuneiform inscriptions mention about the trade contacts. 
3. “Meluha” refers to Mesopotamia. 
4. King Naram-Sin (Sumeria) bought Jewellery from Meluhha. 
Which is not correct? 
a. 1, 2 only  b. 2 & 3 only   c. 3 only   
d. 3 & 4 only  e. Answer not known 
gpd;tUk; $w;Wfis ftdp: 
1. `ug;gh> nkrgNlhkpahTld; neUq;fpa njhlh;G nfhz;bUe;jJ. 
2. f;A+dpghh;k; fy;ntl;Lf; Fwpg;Gfs; tzpfj; njhlh;Gfis Fwpg;gpLfpd;wd. 
3. “nkYfh” vd;w nrhy; nkrgNghlhkpahitf; Fwpf;fpwJ. 
4. murd; euk;-rpd; (RNkhpah) nkYfh –tpypUe;J mzpfyd;fis thq;fpdhd;. 
jtwhdJ vJ? 
a. 1, 2   b. 2, 3    c. 3 kl;Lk;   
d. 3, 4   e. tpilnjhpatpy;iy 
  

99. Which is the correct ascending order in Rig Vedic society? 
a. Kulapathi, Vishayapathi, Gramini, Janasyagopa 
b. Vishayapathi, Kulapathi, Gramini, Janasyagopa 
c. Kulapathi, Gramini, Vishayapathi, Janasyagopa 
d. Janasyagopa, Vishayapathi, Kulapathi, Gramini 
e. Answer not known 
hpf;Ntjfhy r%fj;jpd; rhpahd VWthpir vJ? 
a. Fygjp> tpragjp> fpuhkpdp> [d];aNfhgh 
b. tpragjp> Fygjp> fpuhkpdp> [d];aNfhgh 
c. Fygjp> fpuhkzp> tpragjp> [d];aNfhgh 
d. [d];aNfhgh> tpragjp> Fygjp> fpuhkpdp 
e. tpilnjhpatpy;iy 

 

100. The Mughal prince, who translated the Upanishad into Persian, much before 
the colonial scholars developed any interest in the ancient literature. 
a. Murad  b. Akbar   c. Dara Shikoh   
d. Khurram  e. Answer not known 
fhydpa fhy mwpQh;fs; gz;ila ,yf;fpaq;fspd; kPJ Mh;tk; nfhs;tjw;F 
ntFfhyj;jpw;F Kd;dNu> cgepljq;fis ghurPf nkhopapy; nkhop ngah;j;j 
nkhfyha ,sturh; ahh;? 
a. Kuj;   b. mf;gh;   c. jhuhRNfh   
d. Fh;uk;  e. tpilnjhpatpy;iy 

 

101. In which part of Tamil Nadu did the Archaeological survey of India excavate 
a Buddhist Vihaara? 
a. Pallavamedu b. Kaaveri Poompattinam  c. Korkai  
d. Azhagankulam e. Answer not known 
jkpo;ehl;bd; ve;jg;gFjpapy; eLtzuRj; njhy;nghUs; Jiwapdh; ngsj;j 
tpfhuk; xd;wpid fz;Lgpbj;Js;sdh;. 
a. gy;ytNkL  b. fhNthpg; g+k;gl;bdk;  c. nfhw;if  
d. mofd;Fsk; e. tpilnjhpatpy;iy 
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102. Choose the wrong answer from the following? 
I. From the excavations Bruce Foote came to know about the New Stone 

Age in Tamil Naadu. 
II. People who belonged to the old stone age used instruments that were 

smooth, sharp and glistening. 
a. I only   b. II only  c. I, II  d. none  
e. Answer not known 
gpd;tUtdtw;wpy; jtwhd $w;iwj; Njh;e;njL 
I. Gjpa fw;fhyj; jkpofk; gw;wpa nra;jpfisg; GijnghUs; Ma;tpd; 

thapyhf G&]; /Gl; vd;gth; fz;lwpe;jhh; 
II. gioa fw;fhy kf;fs; ed;whfj; Nja;f;fg;ngw;W nkUfplg; ngw;w 

totog;ghd fUtpfisg; gad;gLj;jpdh;. 
a. I kl;Lk;   b. II kl;Lk;    c. I, II 
d. vJTkpy;iy  e. tpilnjhpatpy;iy 
 

103. Porunai Valley Civilization is ________ years old 
a. 3000 b. 3200 c. 2800  d. 3300 e. Answer not known 
nghUie Mw;wq;fiu ehfhpfk; ________ Mz;Lfs; goikahdJ 
a. 3000 b. 3200 c. 2800  d. 3300 e. tpilnjhpatpy;iy 
 

104. Match the following  
A. Adichanallor   1. Robert Bruce Foote 
B. Arikkamedu   2. Iyraavadam Mahaadevan 
C. Pugaloor Kalvettu  3. Sir Mortimer wheeler 

A B C  
a. 1 2 3 
b. 3 2 1 
c. 1 3 2 
d. 2 3 1 
e. Answer not known  
nghUj;Jf 
A. Mjpr;rey;Y}h;   1. ,uhgh;l; G&]; /Gl; 
B. mhpf;fNkL    2. Iuhtjk; kfhNjtd; 
C. Gf@h; fy;ntl;L   3. rh; khh;bkh;tPyh; 
 A B C  
a. 1 2 3 
b. 3 2 1 
c. 1 3 2 
d. 2 3 1 
e. tpilnjhpatpy;iy 
 

105. Choose the correct answer? 
I. The stone implements found in Keezhadi are the first stone implements 

found in India. 
II. Roman pottery was found in the Arikamedu excavations 
III. Numerous burial urns were found in Adichanallore 

a. I only  b. I, II only   c. II, III only 
d. I, II, III  e. Answer not known 
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gpd;tUtdtw;wpy; rhpahd $w;iwj; Njh;e;njL 
I. fPobapy; vLf;fg;gl;l fw;fUtpjhd; ,e;jpahtpy; fz;nlLf;fg;gl;l Kjy; 

fy;yhAjkhFk;. 
II. mhpf;fNkL mfoha;tpy; Nuhkhdpa kl;ghz;lq;fs; fpilj;jd. 
III. Mjpr;rey;Y}hpy; Vuhskhd KJkf;fs; jhopfs; fz;Lgpbf;fg;gl;ld. 
a. I kl;Lk;  b. I, II kl;Lk;   c. II, III kl;Lk; 
d. I, II, III  d. tpilnjhpatpy;iy 

 
106. The Maangkulam inscriptions belong to the ____ century. 

a. 2 B.C.  b. 3 B.C.   c. 4 B.C.   
d. 5 B.C.  e. Answer not known  
khq;Fsk; fy;ntl;L ve;j E}w;whz;ilr; rhh;e;jit? 
a. fp.K.2  b. fp.K.3   c. fp.K.4 
d. fp.K.5  e. tpilnjhpatpy;iy 

 
107. Kadaichangam is one of the three Sangam’s. It flourished in the period of 

a. Kaychchina Vazhudhi I - Kadungkon 
b. Vendoch Chezhiyan I - Mudaththirumaaran 
c. Mudaththirumaaran - Ukkirapperuvazhudhi 
d. Cheran Senguttuvan - Nedunchezhian  
e. Answer not known  
Kr;rq;fq;fspy; xd;whd filr;rq;fj;ij tsh;j;jth;fs; ahh;? 
a. Kjyhk; fha;r;rpd tOjp Kjy; fLq;Nfhd; tiu 
b. Kjyhk; Ntz;Nlh; nropad; Kjy; Klj;jpUkhwd; tiu 
c. Klj;jpUkhwd; Kjy; cf;fpug;ngUtOjp tiu 
d. Nrud; nrq;Fl;Ltd; Kjy; neLQ;nropad; tiu 
e. tpilnjhpatpy;iy 

 
108. Which of the following works belong to the Kadaichangam period? 

I. Tholkaapiyam  II. Aghaththiyam  III. Eight Idllys 
IV. Ten Idllys   
a. I, II    b. I, II, III    c. III, IV 
d. I, II, III, IV   e. Answer not known  
fPo;f;fz;ltw;Ws; filr;rq;f E}y;fs; vit? 
I. njhy;fhg;gpak; II. mfj;jpak;  III. vl;Lj;njhif IV. gj;Jg;ghl;L 
a. I, II    b. I, II, III   c. III, IV 
d. I, II, III, IV   e. tpilnjhpatpy;iy 
 

109. Which country’s trade prosperity has been described by Kadiyalur 
Uruththirangkannanaar a Tamil poet in Pattinappaalai, beautifully? 
a. Early Cholas  b. Early Pandyas  c. Later Pandyas 
d. Later Cholas  e. Answer not known 
ve;j ehl;bd; th;j;jfr; nropg;ig fbaY}h; cUj;jpuq;fz;zdhh; vd;w 
jkpo;g;Gyth; ‘gl;bdg;ghiy’ vd;w ,yf;fpaj;jpy; moFw vLj;Jf; $wpAs;shh;? 
a. Kw;fhy Nrhoh;fs;  b. Kw;fhy ghz;bah;fs;  
c. gpw;fhy ghz;bah;fs;  d. gpw;fhy ghz;bah;fs; 
e. tpilnjhpatpy;iy 
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110. Match the following 
A. Paari   1. Candeeramalai 
B. Aay Andiran  2. Parambumalai 
C. Nalli   3. Podhiyamalai 
D. Began   4. Pazhanimalai 

A B C D 
a. 1 2 3 4 
b. 2 3 1 4 
c. 3 2 4 1 
d. 4 3 2 1 
e. Answer not known 
nghUj;Jf 
A. ghhp   1. fz;Bukiy 
B. Ma; mz;bud;  2. gwk;Gkiy 
C. es;sp   3. nghjpa kiy 
D. Ngfd;   4. godpkiy 
 A B C D 
a. 1 2 3 4 
b. 2 3 1 4 
c. 3 2 4 1 
d. 4 3 2 1 
e. tpilnjhpatpy;iy 

 

111. Match the following 
A. Kurunji   1. Yaamam 
B. Mullai   2. Maalai 
C. Marudham  3. Vaikarai 
D. Neydhal   4. Nanpagal 
    5. Yerpaadu  
 A B C D 
a. 1 2 3 4 
b. 4 3 2 5 
c. 4 5 3 2 
d. 1 2 3 5 
e. Answer not known 
nghUj;Jf 
A. FwpQ;rp   1. ahkk; 
B. Ky;iy   2. khiy 
C. kUjk;   3. itfiw 
D. nea;jy;   4. ez;gfy; 
    5. Vw;ghL 
 A B C D 
a. 1 2 3 4 
b. 4 3 2 5 
c. 4 5 3 2 
d. 1 2 3 5 
e. tpilnjhpatpy;iy 
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112. Which book belonging to the Sangam period starts with the song “Pulipasith 
thanna Melili lullath” 
a. Tholkaappiyam  b. Aganaanooru  c. Nattrinai 
d. Puranaanooru  e. Answer not known 
“Gypgrpj; jd;d nkypyp Ys;sj;” vdj;njhlq;Fk; rq;fhyg;ghly; ,lk;ngw;Ws;s 
E}y; vJ? 
a. njhy;fhg;gpak;  b. mfehD}W   c. ew;wpiz   
d. GwehD}W   e. tpilnjhpatpy;iy 
 

113. What according to Nattrinai is the prime duty of a householder? 
a. not eating meat   b. being truthful 
c. hospitality    d. clearing other people’s debts 
e. Answer not known 
,y;ywj;jpd; jiyaha flikahf ew;wpiz Fwpg;gpLtJ vij? 
a. Gyhy; cz;zhik  b. tha;ik 
c. tpUe;Njhk;gy;   d. gpwh;fld; jPh;j;jy; 
e. tpilnjhpatpy;iy 

 
114. Match: 

A. Vaagai  1. Defending the wall blockaded by the enemy 
B. Nochchi  2. Adorned by one who is victorious in war 
C. Paadaan  3. King’s fame, song in praise of generosity 

A B C  
a.  1 2 3 
b. 2 1 3 
c. 3 2 1 
d. 2 3 1 
e. Answer not known 
nghUj;Jf 
A. thif  1. giftuhy; Kw;Wifaplg;gl;l kjpiyf; fhj;jy; 
B. nehr;rp  2. Nghhpy; ntw;wp ngw;wth; #LtJ 
C. ghlhz;  3. kd;ddpd; Gfo;> nfhil ghLjy; 
 A B C  
a.  1 2 3 
b. 2 1 3 
c. 3 2 1 
d. 2 3 1 
e. tpilnjhpatpy;iy 
 

115. In Aaganaanooru, Puranaanooru, Nattrinai, Kurunthogai and Iiyingurunooru 
the invocation to god is sung by _____ 
a. Bharadhampaadiya Perunthevanaar  b. Seikkizhaaar 
c. Koovurkizhaar    d. Paanar   
e. Answer not known 
mfehD}W> GwehD}W> ew;wpiz> FWe;njhif> Iq;FWE}W Mfpa Ie;J njhif 
E}y;fSf;Fk; flTs; tho;j;Jg; ghbath; ahh;? 
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a. ghujk; ghba ngUe;Njtdhh;  b. Nrf;fpohh; 
c. Nfht+h;fpohh;    d. ghzh; 
e. tpilnjhpatpy;iy 

 
116. Who wrote Maana Vijayam the opera? 

a. Sooriya Naaraayana Saastriyaar  b. Neelakanda Saastriyaar 
c. Perunathevanaar    d. Killivalavan   
e. Answer not known 
khd tp[ak; vd;w nra;As; ehlfj;ij ,aw;wpath; ahh;? 
a. #hpa ehuhaz rh];jphpahh;  b. ePyfz;l rh];jphpahh; 
c. ngUe;Njtdhh;    d. fps;sptstd; 
e. tpilnjhpatpy;iy 

 
117. “Who said, this is regards to Tamil pride, 

“Veerudai Semmozhi Tamizhmozhi Ulagam 
Veroondriya Naal Muthal Uyarmozhi”? 

 a. Devaneyappavanar   
b. Paavalareru  Perunjchiththiranaar 

 c. Bharadhampaadiya Perundhevanaar 
 d. Kumattoor Kannanaar 

e. Answer not known 
“tPWil nrk;nkhop jkpo;nkhop cyfk;  
Nt&d;wpa ehs; Kjy; cah;nkhop”  
vd;W jkpopd; ngUikia giwrhw;Wgth; ahh;? 
a. NjtNeag;ghtzh;    
b. ghtyNuW ngUQ;rpj;jpudhh; 
c. ghujk;ghba ngUe;Njtdhh;    
d. Fkl;^h; fz;zdhh; 
e. tpilnjhpatpy;iy 
 

118. Who wrote the commentary for the entire Tholkappiyam? 
a. Elampooranar  b. Deivasilaiyaar  c. Kallaadar  
d. None of these  e. Answer not known 
njhy;fhg;gpak; KOikf;Fk; ciu vOjpath; ahh;?  
a. ,sk;G+uzh;  b. nja;trpiyahh; 
c. fy;yhlh;   d. ,it vJTkpy;iy  
e. tpilnjhpatpy;iy 
 

119. Match the following 
A. Agananooru  1. Pooriko 
B. Kaliththogai  2. Uruththirasanmanaar 
C. Kurunthogai  3. Nallanthuvanaar 
D. Iyngkurunooru  4. Pulathurai Muttriya Kudaloorkkizhaar 
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 A B C D 
a.  1 2 3 4 
b.  2 3 1 4  
c.  4 3 2 1    
d.  3 2 1 4 
e. Answer not known 
nghUj;Jf:  
A. mfehD}W   1. G+hpNfh  
B. fypj;njhif  2. cUj;jpurd;kdhh;  
C. FWe;njhif   3. ey;ye;Jtdhh;  
D. Iq;FWE}W  4. Gyj;Jiw Kw;wpa $lY}h;f;fpohh; 

 A B C D 
a.  1 2 3 4 
b.  2 3 1 4  
c.  4 3 2 1    
d.  3 2 1 4 
e. tpilnjhpatpy;iy 

 
120. Who was the first to write commentary for Nattrinai? 

a. Pannadu thantha Pandyan Maaran 
b. Pandyan Ukkirapperuvazhudhi 
c. Nallanthuvanaar 
d. Pinnaththoor Narayanasamy Iyer 
e. Answer not known 
ew;wpizf;F Kjd; Kjypy; ciu vOjpath; ahh;? 
a. gd;dhL je;j ghz;bad; khwd;     
b. ghz;bad; cf;fpug;ngUtOjp 
c. ey;ye;Jtdhh;    
d. gpd;dj;J}h; ehuhazrhkp Iah;  
e. tpilnjhpatpy;iy 

 
121. Who is the author of the following verse? 

‘Konguther Vaazhkkai Anchirai thumbi 
Kaamam Seppaathu Kandathu Mozhimo’? 
a. Iraiyanaar    
b. Paalaipaadiya Perungkadungko 
c. Bharadhampaadiya Perundevanaar 
d. Devakulaththaar 
e. Answer not known 
‘nfhq;FNjh; tho;f;if mQ;rpiwj; Jk;gp  
fhkk; nrg;ghJ fz;lJ nkhopNkh” vd;Dk; ghly; thpfspd; Mrphpah; ahh;?  
a. ,iwadhh;     b. ghiyghba ngUq;fLq;Nfh  
c. ghujk;ghba ngUe;Njtdhh;  d. NjtFyj;jhh;  
e. tpilnjhpatpy;iy 
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122. Among Sangam literary works which has more number of extended allusion 
or metaphor?  
a. Iyngkurunooru   b. Aganaanooru 
c. Puranaanooru   d. Paripaadal 
e. Answer not known 
rq;f ,yf;fpaq;fSs; cs;SiwAk;> ,iwr;rpAk; kpFjpahf ,lk;ngw;Ws;s E}y;.  
a. Iq;FWE}W   b. mfehD}W 
c. GwehD}W    d. ghpghly;  
e. tpilnjhpatpy;iy 
 

123. Which work is referred as, “Oththa Irumbukkadalai”? 
a. Pathittruppathu   b. Paripaadal 
c. Iyngkurunooru   d. Aganaanooru 
e. Answer not known 
“xj;j ,Uk;Gf;fliy” vd;w milnkhopNahL miof;fg;gLk; E}y;  
a. gjpw;Wg;gj;J    b. ghpghly;  
c. Iq;FWE}W   d. mfehD}W  
e. tpilnjhpatpy;iy 
 

124. In which Sangam literary work the following lines can be seen? 
“ Palsaan Reerey Palsaan Neerey 
Kayanmul lanna Naraimudir Thiraikavud”? 
a. Puranaanooru   b. Aganaanooru 
c. Paripaadal    d. Kurunthogai 
e. Answer not known 
“gy;rhd; wPNu gy;rhd; ePNu  
fad;Ks; sd;d eiuKjph; jpiufTl;”  
,g;ghly; thpfs; ,lk;ngw;Ws;s rq;f ,yf;fpa E}y; vJ  
a. GwehDW   b. mfehD}W   c. ghpghly;   
d. FWe;njhif   e. tpilnjhpatpy;iy 
 

125. Which is the smallest work of ten idylls? 
a. Mullaippaatu   b. Madurai Kanji 
c. Nedunelvaadai   d. Pattinappaalai 
e. Answer not known 
gj;Jg;ghl;by; rpwpa E}y; vJ?  
a. Ky;iyg;ghl;L   b. kJiuf; fhQ;rp 
c. neLney;thil   d. gl;bdg;ghiy 
e. tpilnjhpatpy;iy 

 

126. Identify the epic with the following statements 
1. Among the five minor epics this one is very interesting 
2. The hero of this epic is known as Thivittan. 
3. This minor epic could be considered as equal to major epic. 

a. Udhayanakumara Kaaviyam  b. Naga Kumarakaaviyam 
c. Yasodara Kaaviyam   d. Choolamani 
e. Answer not known 
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fPo;f;fz;l $w;Wfisf; nfhz;L fhg;gpaj;ij milahsk; fhz;f.  
1. IQ;rpW fhg;gpaq;fspy; Ritahd E}y; ,JNt  
2. ,f;fhg;gpaj;jpd; fjhehafd; jptpl;ld;  
3. ngUq;fhg;gpaj;jpw;F ,izahfg; Nghw;wg;gLfpwJ  
a. cjazFkhu fhtpak;   b. ehf Fkhufhtpak; 
c. aNrhju fhtpak;    d. #shkzp  
e. tpilnjhpatpy;iy 
 

127. Choose the correct pair 

I. Thonnool vilakkam  -  First satire book in Tamil 
II. Sathurakarathi  - Small Tholkapiyam 

III. Prose works   - Vedha Vilakkam 

a. I only   b. II only   c. III only   
d. All of the above  e. Answer not known 
rhpahd ,iziaj; Njh;e;njL:  

I. njhd;D}y; tpsf;fk; - jkpopd; Kjy; VsdE}y;  
II. rJufuhjp – Fl;bj; njhy;fhg;gpak;  

III. ciueil E}y; - Ntj tpsf;fk;  
a. I kl;Lk;   b. II kl;Lk;   c. III kl;Lk;    
d. Nkw;fz;l midj;Jk;  e. tpilnjhpatpy;iy 

 
128. Match the following 

A. Seeraapuranam  1. Thirikoodarasappa Kavirayar 
B. Thanjaivaanan Kovai 2. Umaruppulavar 
C. Kutrala Kuravanji 3. Poiyamozhipulavar 
D. Kalingaththuparani 4. Jayankondar 

A B C D 
a. 1 2 3 4 
b. 2 3 1 4  
c. 4 3 2 1  
d.  3 2 4 1 
e. Answer not known 
nghUj;Jf:  
A. rPwhg;Guhzk;   1. jphp$luhrg;gf; ftpuhah; 
B. jQ;irthzd; Nfhit  2. ckWg;Gyth;  
C. Fw;whyf; FwtQ;rp 3. ngha;ahnkhopg;Gyth;  
D. fypq;fj;Jg;guzp  4. n[aq;nfhz;lhh;  
 A B C D 
a. 1 2 3 4 
b. 2 3 1 4  
c. 4 3 2 1  
d.  3 2 4 1 
e. tpilnjhpatpy;iy 
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129. Match the following 
A. Pethai  1. (Age 5 - 7) 
B. Mangai  2. (Age 12 - 13) 
C. Madanthai 3. (Age 14 - 19) 
D. Therivai  4. (Age 26 - 31) 

A B C D 
a. 1 2 3 4 
b. 4 3 2 1 
c.  2 1 3 4 
d. 3 4 1 2  
e. Answer not known 
nghUj;Jf:  
A. Ngij   1. (5 – 7 taJ) 
B. kq;if   2. (12 – 13 taJ)  
C. kle;ij   3. (14 – 19 taJ)  
D. njhpit   4. (26 – 31 taJ)  
 A B C D 
a. 1 2 3 4 
b. 4 3 2 1 
c.  2 1 3 4 
d. 3 4 1 2  
e. tpilnjhpatpy;iy 
 

130. Match the following 
A. 1 – 3 Thirumurai   1. Thirunavukarasar 
B. 4 – 6 Thirumurai   2. Thirugnanasambandar 
C. Eighth Thirumurai  3. Manikkavasagar 
D. Tenth Thirumurai  4. Thirumoolar 

A B C D 
a. 1 2 3 4 
b. 4 3 2 1 
c. 2 1 3 4 
d. 3 2 4 1 
e. Answer not known 
nghUj;Jf:  
A. 1 – 3 jpUKiw    1. jpUehTf;furh;  
B. 4 – 6 jpUKiw    2. jpUQhdrk;ge;jh;  
C. vl;lhk; jpUKiw   3. khzpf;fthrfh;   
D. gj;jhk; jpUKiw   4. jpU%yh;  
 A B C D 
a. 1 2 3 4 
b. 4 3 2 1 
c. 2 1 3 4 
d. 3 2 4 1 
e. tpilnjhpatpy;iy 
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131. Choose the correct pair. 
a. Nammaazhwar   - Perumal Mozhi 
b. Periyaazhwar   - Thiruvai Mozhi 
c. Kulasekaraazhwar  - Thirumalai 
d. Madurakaviyaazhwar  - Thiruppathigam 
e. Answer not known 
rhpahd ,iziaj; Njh;e;njL:  
a. ek;kho;thh; - ngUkhs; nkhop     
b. nghpaho;thh; - jpUtha; nkhop  
c. FyNrfuho;thh; - jpUkhiy  
d. kJuftpaho;thh; - jpUg;gjpfk;  
e. tpilnjhpatpy;iy 

 

132. Consider the statements about the “Founder of Adi Dravida Mahajana Sabha”. 
I. He became the first elected Legislative Council member from depressed 

classes in Madras province. 
II. He advocated the use of terms such as Adi-dravida and Adi-Andhra. 
a. I only true   b. II only true  c. Both true   
d. Both false   e. Answer not known 
“Mjp jpuhtpl kfh[d rigia cUthf;fpath;” gw;wpagpd;tUk; $w;Wfis 
 ftdp. 

I. ,th; nkl;uh]; khfhzj;jpd;> xLf;fg;gl;lth;fspd; Kjy; Njh;e;njLf;fg;gl;l 
rl;lNkyit cwg;gpdh;. 

II. ,th; Mjpjpuhtpl kw;Wk; Mjp Me;jpuh nrhw;fis gad;gLj;jp thjpl;lhh;. 
a. I kl;Lk; rhp  b. II kl;Lk; rhp  
c. ,uz;Lk; rhp  d. ,uz;Lk; jtW 
e. tpilnjhpatpy;iy 

 

133. Consider the statements about Rettaimalai Srinivasan 
I. He was born in Kozhiyalam, 1860 
II. He was appointed to Madras Legislative Council in 1920 
III. Due to his effort, depressed class people got their rights to use public wells 

and public places. 
IV. B. Parameswaran, the grandson of Rettaimalai Srinivasan was a part of 

Kamaraj ministry  
a. I, II, III are correct  b. I, III, IV are correct 
c. I, III are correct  d. III alone is correct  
e. Answer not known 
,ul;ilkiy rPdpthrd; gw;wpa gpd;tUk; $w;Wfis ftdp. 
I. 1860,y; Nfhopahsj;jpy; gpwe;jhh;. 
II. 1920,y; nkl;uh]; rl;lNkyitf;F epakpf;fg;gl;lhh;. 
III. mtUila Kaw;rpahy; xLf;fg;gl;l r%fj;jpdh; nghJf;fpzWfs; kw;Wk; 

nghJ ,lq;fis gad;gLj;Jk; chpikfis ngw;wdh;. 
IV. ,tUila Ngudhfpa guNk];tud; fhkuh[h; mikr;ruitapy; 

,lk;ngw;wpUe;jhh;. 
a. I, II, III rhp   b. I, III, IV rhp 
c. I, III rhp   d. III kl;Lk; rhp   
e. tpilnjhpatpy;iy 
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134. Iyotheedasar “Oru Paisa Tamilan” was a _______ journal. 
a. Daily    b. Weekly    c. Monthly  
d. Fortnightly  e. Answer not known 
mNahj;jpajhrhpd; “xU igrh jkpod;” _________ gj;jphpf;if  
a. jpdrhp   b. thuhe;jpu 
c. khjhe;jpu   d. ,uz;L thuj;jpw;F xUKiw ntsptUk; 
e. tpilnjhpatpy;iy 

 
135. Consider the following statements 

1. Meenambal was the first Scheduled Caste women president of the All 
India Scheduled Castes Federation (AISCF). 

2. She was born in Singapore on 26th December 
3. She also presided over the All-India SCF Women's Conference held at 

Bombay, on 6 May 1945 
a. 1 &2 are correct  b. 2 & 3 are correct 
c. 1 & 3 are correct  d. All the above are correct 
e. Answer not known 

 gpd;tUk; $w;Wfis Ma;f 
1. kPdhk;ghs;> midj;jpe;jpa gl;bay; ,df; fofj;jpd; Kjy; gl;bay; ,d  

ngz; jiytuhthh; 
2. mth; 26 brk;gh; md;W rpq;fg;g+hpy; gpwe;jhh;. 
3. 6 Nk> 1945 md;W gk;ghapy; eilngw;w mfpy ,e;jpa gl;ba ,d fof 

ngz;fs; khehl;bw;Fk; mth; jiyik jhq;fpdhh;.  
a. 1> 2 rhp   b. 2> 3 rhp    c. 1> 3 rhp   
d. midj;Jk; rhp  e. tpilnjhpatpy;iy 
 

136. Which year Dharmambal was given the title of Vira Tamil Annai ("Heroic 
Tamil Mother") for her contributions to the Tamil language, especially for 
promoting Tamil education to youth through the Student Forum 
a. 1951   b. 1948    c. 1967    
d.1965   e. Answer not known 
jkpo; nkhopf;F> Fwpg;ghf khzth; kd;wk; %yk; ,isQh;fSf;F jkpo;f; 
fy;tpia Cf;Ftpj;jjw;fhf jh;khk;ghSf;F tPu jkpo; md;id vd;w gl;lk; ve;j 
Mz;L toq;fg;gl;lJ? 
a. 1951   b. 1948   c. 1967    
d.1965   e. tpilnjhpatpy;iy 
 

137. Who organised Pottaruppu Sangam against the practice of devadasi system? 
a. Periyar     b. Moovalur Ramamirtham ammayar  
c. Dr. Muthu Lakshmi ammayar  d. Meenambal 
e. Answer not known 
Njtjhrpf;F Kiwf;F vjpuhf nghl;lWg;G rq;fj;ij Njhw;Wtpj;jth; ahh;? 
a. nghpahh;    b. %tY}h; ,uhkhkph;jk; mk;ikahh; 
c. Kj;Jnyl;Rkp mk;ikahh;  d. kPdhk;ghs; 
e. tpilnjhpatpy;iy 
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138. Name the personality who attended the Paris International Congress of 
Women as a delegate in 1926 
a. Meenambal    b. Dr. Muthulakshmi  
c. Annie Besant    d. Sarojini Naidu 
e. Answer not known 
1926Mk; Mz;L ghhp]; rh;tNjr kfsph; khehl;by; xU gpujpepjpahf fye;J 
nfhz;l MSikapd; ngaiuf; Fwpg;gplTk;. 
a. kPdhk;ghs;    b. lhf;lh;. Kj;Jyl;Rkp 
c. md;dpngrd;l;   d. rNuh[pdp ehAL 
e. tpilnjhpatpy;iy 
 

139. Choose the correct statements about Ramalinga Adigal. 
i. He popularized Jeevakarunyam – to show compassion on all living 

things. 
ii. He established Samarasa Sanmarga Sangam in 1865. 
iii. He established Sathya Gnana Sabha at Vadalur. 
iv. He wrote Manu murai kanda vaasagam. 
v. His works were called ‘Marutpa’ 
a. i, iii only  b. ii and iv only  c. i, ii, iii, iv only   
d. All of these e. Answer not known 
,uhkypq;f mbfs; Fwpj;j rhpahd $w;Wfis Njh;T nra;f 
i. vy;yh caph;fsplKk; ,uf;fk; fhl;l mth; [PtfhUz;aj;ij 

gpugyg;gLj;jpdhh; 
ii. 1865,y; rkur rd;khh;f;f rq;fj;ij Njhw;Wtpj;jhh; 
iii. tlY}hpy; rj;aQhd rigia Njhw;Wtpj;jhh; 
iv. kDKiw fz;l thrfj;ij vOjpdhh; 
v. ,tuJ gilg;Gfs; “kUl;gh” vd miof;fg;gl;lJ 
a. i, iii kl;Lk;   b. ii kw;Wk; iv kl;Lk; c. i, ii, iii, iv kl;Lk;  
d. Nkw;$wpa midj;Jk; e. tpilnjhpatpy;iy 
 

140. Choose the correct statements about Vaikunda Swamigal. 
i. He was born at Chidambaram. 
ii. He supported British rule due to their social reform initiatives. 
iii. He worked for the welfare of low caste people 
iv. His cult was known as Ayyavazhi. 
a. i and ii only  b. i, iii and iv only  c. ii, iii and iv only  
d. iii and iv only  e. Answer not known 
itFe;j Rthkpfs; njhlh;ghd rhpahd $w;Wfis Njh;f 
i. ,th; rpjk;guj;jpy; gpwe;jhh; 
ii. mthpd; rPh;jpUj;j eltbf;iffs; %ykhf mth; gphpl;b~; Ml;rpia 

Mjhpj;jhh; 
iii. jho;j;jg;gl;l kf;fspd; eyDf;fhf ghLgl;lhh; 
iv. mtuJ topghl;L Kiw ma;ahtop vd mwpag;gl;lJ 
a. i & ii kl;Lk;  b. i, iii kw;Wk; iv kl;Lk; c. ii, iii kw;Wk; iv kl;Lk; 
d. iii kw;Wk; iv kl;Lk; e. tpilnjhpatpy;iy 
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141. Which is not a factor included in calculation of Human Development Index? 
a. literacy rate   b. life expectancy at birth 
c. purchasing power parity  d. Gross National Product 
e. Answer not known 
kdpj Nkk;ghl;Lf; FwpaPl;ilf; fzf;fpLk; NghJ Nrh;f;fg;glhj fhuzp vJ? 
a. vOj;jwpT tPjk;   b. MAl;fhyk; 
c. thq;Fk; jpwd; rkepiy  d. nkhj;j cs;ehl;L cw;gj;jp 
e. tpilnjhpatpy;iy 
 

142. Consider the following statements and choose the correct answer 
1. India is in medium human development category. 
2. India’s HDI has increased by nearly 50% from 1990 – 2017. 
3. All three components of HDI have shown remarkable improvement in India 
a. 1 and 2 only  b. 2 and 3 only  c. 1 and 3 only  
d. All the above  e. Answer not known 
gpd;tUtdtw;wpy; rhpahdij Njh;T nra;f 
1. ,e;jpah eLj;ju kdpj Nkk;ghl;L gphptpy; cs;sJ 
2. ,e;jpahtpd; HDI 1990 Kjy; 2017 tiu fpl;lj;jl;l 50 rjtPjk; 

mjpfhpj;Js;sJ 
3. HDI-apd; %d;W $WfSk; ,e;jpahtpy; Fwpg;gplj;jf;f Kd;Ndw;wj;ijf; 

fhl;bAs;sd 
a. 1 & 2 kl;Lk;  b. 2 kw;Wk; 3 kl;Lk;  c. 1 kw;Wk; 3 kl;Lk;  
d. ,it midj;Jk;  e. tpilnjhpatpy;iy 
 

143. Rank of Tamilnadu among the Indian states in Human Development Index, as 
of 2015 
a. one  b. two  c. three d. five  e. Answer not known 
,e;jpa khepyq;fspy;> kdpjts Nkk;ghl;L FwpaPl;by; jkpo;ehl;bd; epiy vd;d 
(2015Mk; Mz;L)? 
a. xd;W b. ,uz;L c. %d;W d. Ie;J e. tpilnjhpatpy;iy 
 

144. State with the highest Gross enrolment ratio in higher education. 
a. Kerala  b. Tamilnadu  c. Andhra Pradesh  
d. Telangana  e. Answer not known 
cah; fy;tpapy; mjpf nkhj;j Nrh;f;if tpfpjk; nfhz;l khepyk; vj? 
a. Nfush  b. jkpo;ehL   c. Me;jpugpuNjrk;   
d. njYq;fhdh e. tpilnjhpatpy;iy 
 

145. Tamil Nadu has ___ tier health infrastructure. 
a. 2  b. 3  c. 4  d. 5  e. Answer not known 
jkpo;ehL ___ mLf;F Rfhjhu cs;fl;likg;ig nfhz;Ls;sJ. 
a. 2  b. 3  c. 4  d. 5  e. tpilnjhpatpy;iy 
 

146. Which among the following is incorrect with reference to NITI Aayog’s various 
Indices for Tamilnadu? 

a. Tamilnadu is 9th in Health index 2019 
b. Tamilnadu is 2nd in Education index among larger states in 2019-20 
c. Tamilnadu is 3rd in Export Preparedness Index 2020 
d. Tamilnadu is 1st in Sustainable Development Index (SDG)2020-2021 
e. Answer not known 
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gpd;tUtdtw;Ws; epjp MNahf;fpd; gy;NtW FwpaPLfspy; jkpo;ehL njhlh;ghd 
jtwhd $w;wpidf; fhz;f 
a. eyf;FwpaPL 2019-20,y; jkpo;ehL 9Mk; ,lj;jpy; cs;sJ. 
b. nghpa khepyq;fspy; fy;tpf; FwpaPL 2020,y; jkpo;ehL 2Mk; ,lj;jpy; 

cs;sJ. 
c. Vw;Wkjp jahh;epiyf; FwpaPL 2020,y; jkpo;ehL 3Mk; ,lj;jpy; cs;sJ. 
d. ePbj;j epiyahd tsh;r;rpf; FwpaPL 2020-21,y; jkpo;ehL Kjyplj;jpy; 

cs;sJ. 
e. tpilnjhpatpy;iy 
 

147. Life expectancy, Infant mortality and literacy rate are the indicators of 
a. Food Security Index   b. Physical Quality of Life Index  
c. Multidimensional Poverty Index d. Child Development Index 
e. Answer not known 
MAl;fhyk;> Foe;ij ,wg;G kw;Wk; fy;tpawpT tpfpjk; Mfpait ,tw;wpd; 
Fwpfhl;bfshFk;. 
a. czT ghJfhg;G FwpaPL   b. tho;f;ifj; juf;FwpaPL 
c. gyghpkhz tWikf; FwpaPL  d. Foe;ij Nkk;ghl;Lf; FwpaPL 
e. tpilnjhpatpy;iy 
 

148. Which among the following Index is not published by UNDP? 
1. Human Development Index    
2. Multi Dimensional Poverty Index   
3. Child Development Index 
4. Gender Inequality Index 
a. 2, 3  b. 3 only    c. 2, 3, 4   
d. 1, 2  e. Answer not known 

 gpd;tUtdtw;Ws; UNDP-My; ntspaplg;glhj FwpaPL vJ? 
1. kdpjts Nkk;ghl;Lf; FwpaPL 
2. gyghpkhz tWikf; FwpaPL 
3. Foe;ij Nkk;ghl;L FwpaPL 
4. ghypd rkj;Jtkpd;ikf; FwpaPL 
a. 2, 3  b. 3 kl;Lk;    c. 2, 3, 4   
d. 1, 2  e. tpilnjhpatpy;iy 
 

149. MORRIS D MORRIS developed  
a. PQLI  b. MDPI   c. GNHI   
d. None  e. Answer not known 

 Nkhhp]; b Nkhhp]; cUthf;fpaJ ______ 
a. PQLI  b. MDPI   c. GNHI   
d. vJTkpy;iy e. tpilnjhpatpy;iy 
 

150. What is the literacy rate of Tamilnadu according to the 2011 census? 
a. 73.0 %  b. 73.45 %    c. 80.33 %   
d. 86.77 %  e. Answer not known 
2011Mk; Mz;L kf;fs;njhif fzf;nfLg;gpd;gb jkpo;ehl;bd; vOj;jwpT tpfpjk; 
ahJ? 
a. 73.0 %  b. 73.45 %    c. 80.33 %   
d. 86.77 %  e. tpilnjhpatpy;iy 
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151. Find out the correct pair based on 2011 census 
a. least populous  - Dharmapuri 
b. lowest literacy – Perambalur 
c. Highest sex ratio -  Kanyakumari 
d. lowest child sex ratio – Cuddalore 
e. Answer not known 
2011Mk; Mz;L kf;fs;njhif fzf;nfLg;gpd;gb rhpahd ,iziaf; fhz;f 
a. Fiwe;j kf;fs;njhif – jh;kGhp 
b. Fiwe;j vOj;jwpT – nguk;gY}h; 
c. mjpf ghypd tpfpjk; - fd;dpahFkhp 
d. Fiwe;j Foe;ij ghypd tpfpjk; - flY}h; 
e. tpilnjhpatpy;iy 

 
152. Which among the following districts are Aspirational Districts of Tamilnadu? 

a. Viruthunagar & Perambalur 
b. Ramanathapuram & Dharmapuri 
c. Ariyalur, Viruthunagar & Dharmapuri 
d. Ramanathapuram & Virudhunagar 
e. Answer not known 
jkpo;ehl;by; ,e;jpa murpd; tsh;e;JtUk; khtl;lq;fs; jpl;lj;jpw;F 
Njh;e;njLf;fg;gl;l khtl;lq;fs; ahit? 
a. tpUJefh; kw;Wk; nguk;gY}h; 
b. ,uhkehjGuk; kw;Wk; jh;kGhp 
c. mhpaY}h;> tpUJefh; kw;Wk; jh;kGhp 
d. ,uhkehjGuk; kw;Wk; tpUJefh; 
e. tpilnjhpatpy;iy 
 

153. Name the state in India which has recently established Whole Genome 
Sequencing Laboratory (2021)? 
a. U.P    b. Punjab   c. Tamilnadu   
d. Himachal Pradesh e. Answer not known 
rkPgj;jpy; ,e;jpahtpy; khepy murpd; rhh;gpy; kugZ gFg;gha;T $lk; ve;j 
khepyj;jpy; mikf;fg;gl;Ls;sJ? 
a. cj;jpugpuNjrk;  b. gQ;rhg;   c. jkpo;ehL   
d. ,khr;ry gpuNjrk; e. tpilnjhpatpy;iy 
 

154. On august 5, 2021 Makkalai Thedi Maruthuvam, the DMK government’s 
programme to deliver essential healthcare at the doorstep of the people was 
launched by Chief Minister M.K.Stalin in _______ village at Krishnagiri. 
a. Samanapalli b. Achamangalam  c. Edayarapalli   
d. Dasiripalli  e. Answer not known 
Mf];l; 5> 2021Mk; Njjp fpU~;zfphpapy; cs;s ________ fpuhkj;jpy; kf;fspd; 
tPl;Lf;Nf nrd;W kUj;Jt Nritfis toq;Fk; “kf;fisj; Njb kUj;Jtk;” 
jpl;lj;ij Kjy;th; K.f.];lhypd; njhlq;fpitj;jhh;.  
a. rkdg;gs;sp b. mr;rkq;fsk;  c. vlaug;gs;sp  
d. jrphpg;gs;sp e. tpilnjhpatpy;iy 
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155. Organ Donation Day of India is on 
a.  August 13  b. November 27   c. October 15  
d. December 8 e. Answer not known 

 ,e;jpa cly;cWg;G jhd jpdk; ________ 
 a. Mf];l; 13  b. etk;gh; 27    c. mf;Nlhgh; 15  

d. brk;gh; 8  e. tpilnjhpatpy;iy 
 

156. Thanthai Periyar Award for social justice was instituted in the year _____ 
a. 1993  b. 1994   c.1995   
d. none  e. Answer not known 

 r%f ePjpf;fhd je;ij nghpahh; tpUJ Njhw;Wtpf;fg;gl;l Mz;L 
a. 1993  b. 1994   c.1995   
d. vJTkpy;iy e. tpilnjhpatpy;iy 

 
157. Manitha Neya Vara Vizha is being celebrated in all the districts from 

a. Dec10 – 15   b. Jan 24 – 30   c. Oct 02 – 07   
d. Aug 15 – 20  e. Answer not known 
midj;J khtl;lq;fspYk; kdpj Nea thu tpoh nfhz;lhlg;gLk; thuk; 
a. brk;gh; 10 – 15  b. [dthp 24 – 30  c. mf;Nlhgh; 2 – 7  
d. Mf];l; 15 – 20  e. tpilnjhpatpy;iy 
 

158. Match the following 
nghUj;Jf 
A. TNHB    1. 1976  
B. TNSCB    2. 1974   
C. TAHDCO    3. 1970  
D. TANCEM   4. 1961  

  A B C D 
 a. 4 2 1 3 
 b. 4 3 2 1 
 c. 1 2 3 4 
 d. 2 3 1 4 
 e. Answer not known 

e. tpilnjhpatpy;iy 
 
159. Consider the following statements 

1. Tamilnadu Third Gender Welfare Board was established in the year 2008 
2. For the first time in India, a pension scheme for destitute Third Genders 

who are above 50 years of age was introduced in Tamilnadu 
3. Third Gender Day is on 15th April every year in Tamilnadu 
a. 1 & 2 are correct   b. 1& 3 are correct  
c. 2 & 3 are correct   d. all the above are correct. 
e. Answer not known 
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gpd;tUk; $w;Wfis Ma;f 
1. jkpo;ehL %d;whk; ghypd eythhpak; 2008Mk; Mz;L Njhw;Wtpf;fg;gl;lJ. 
2. 50 tajpw;F Nkw;gl;l Mjutw;w %d;whk; ghypdj;jtUf;F Xa;T+jpak; toq;Fk; 

jpl;lk; ,e;jpahtpy; Kjy; Kiwahf jkpo;ehl;by; mwpKfg;gLj;jg;gl;lJ 
3. jkpo;ehl;by; %d;whk; ghypd jpdk; Mz;LNjhWk; Vg;uy; 15Mk; NjjpahFk; 
a. 1> 2 rhp   b. 1> 3 rhp   c. 2> 3 rhp   
d. midj;Jk; rhp  e. tpilnjhpatpy;iy 
 

160. What is the total strength of the Tamilnadu State Commission for Women? 
a. 10    b. 9     c. 8    
d. none  e. Answer not known 
jkpo;ehL khepy ngz;fs; Mizaj;jpd; nkhj;j cWg;gpdh;fs; (jiyth; cl;gl) 
vz;zpf;if ahJ? 

 a. 10   b. 9    c. 8   
d. vJTkpy;iy e. tpilnjhpatpy;iy 

 
161. Which one of the following schemes is supported by the World Bank? 

a. Puthu vazhvu Thittam 
b. Namakku naame Thittam 
c. Anna Marumalarchi Thittam 
d. CM’s Solar Powered Green House Scheme. 
e. Answer not known 
gpd;tUtdtw;Ws; ve;j jpl;lk; cyf tq;fp epjpcjtpAld; nray;gLj;jg;gLfpwJ? 
a. GJ tho;T jpl;lk;    
b. ekf;F ehNk jpl;lk; 
c. mz;zh kWkyh;r;rp jpl;lk;  
d. Kjyikr;rhpd; #hpa Mw;wy; gRik ,y;yj;jpl;lk; 
e. tpilnjhpatpy;iy 

 
162. Match the following  

Marriage Assistance Schemes 
Scheme                         Year 
A. DR. Muthulakshmi Inter caste  
marriage assistance Scheme     1. 1989 

  B. EVR Manniammayar Widow  
Daughter Marriage assistance scheme    2. 1968 
C. DR.Dharmambal Widow Remarriage  
assistance scheme       3. 1982 
D. Moovalur Ramamirtham Ammayar  
poor parents marriage assistance scheme   4. 1975 

  A B C D 
 a.  2 3 4 1 
 b. 2 4 3 1 
 c. 1 3 4 2 
 d. 4 3 1 2 

e. Answer not known 
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jpUkz cjtpj;jpl;lq;fis nghUj;Jf 
 jpl;lq;fs;       Mz;L 
 A. lhf;lh;. Kj;Jnyl;Rkp fyg;G jpUkz  
 cjtpj;jpl;lk;       1. 1989 
 B. <.nt.uh. kzpak;ikahh; tpjit kfs;  
 jpUkz cjtpj;jpl;lk;     2. 1968 
 C. lhf;lh;. jh;khk;ghs; tpjit kWkz 
 cjtpj;jpl;lk;       3. 1982 
 D. %tY}h; uhkkph;jk; mk;ikahh; Vio 
 ngw;Nwhh; jpUkz cjtpj;jpl;lk;    4. 1975 
  A B C D 
 a.  2 3 4 1 
 b. 2 4 3 1 
 c. 1 3 4 2 
 d. 4 3 1 2 

e. tpilnjhpatpy;iy 
  
163. Consider the following statements 

1. Tamilnadu is first state to introduce pension scheme in 1962 
2. National Social Assistance Programme was introduced in 1990 
3. Annapoorna Scheme was introduced in 2000 
4. Antyodaya Anna Yojana was launched on December 25, 2001 
a. 1, 2, 3 are correct   b. 2, 4 are incorrect 
c. 1, 2, 4 are correct   d. 2 alone is incorrect 
e. Answer not known 
gpd;tUk; $w;Wfis Ma;f 
1. Kjd;Kjyhf Xa;T+jpaj;jpl;lj;ij jkpofk; 1962,y; mwpKfg;gLj;jpaJ. 
2. Njrpa r%f cjtpj;jpl;lk; 1990,y; mwpKfg;gLj;jg;gl;lJ. 
3. md;dg+h;zh jpl;lk; 2000,y; mwpKfg;gLj;jg;gl;lJ. 
4. me;jpNahjah md;d Nah[dh brk;gh; 25> 2001,y; njhlq;fg;gl;lJ. 
a. 1> 2> 3 rhp    b. 2> 4 jtW 
c. 1> 2> 4 rhp    d. 2 kl;Lk; jtW 
e. tpil njhpatpy;iy 
 

164. Find out the incorrect pair 
a. Prohibition of Child Marriage Act – 2006 
b. POCSO ACT – 2012 
c. Juvenile Justice Act 2000 
d. The Maintenance and Welfare of Parents and Senior Citizens Act – 2009 
e. Answer not known 
jtwhd ,iziaf; fhz;f 
a. Foe;ij jpUkzj;jilr;rl;lk;     - 2006 
b. POCSO rl;lk;      - 2012 
c. rpwhh; ePjpr;rl;lk;      - 2000 
d. ngw;Nwhh; kw;Wk; %j;j Fbkf;fspd; guhkhpg;G  

kw;Wk; eyr;rl;lk;      - 2009 
e. tpil njhpatpy;iy 
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165. Tamilnadu introduced Pension Scheme for Differently abled in ______ 
a. 1962  b. 1972   c. 1975 
d. 1981  e. Answer not known 
khw;Wj;jpwdhspfSf;fhd Xa;t+jpaj;jpl;lj;ij jkpofk; mwpKfg;gLj;jpa Mz;L 
_______ 
a. 1962  b. 1972   c. 1975 
d. 1981  e. tpil njhpatpy;iy 
 

166. Which one of the following schemes comes under BBBP? 
a. Dhanashri Mahila Sishu Yojana  b. Sukanya Samriti Yojana 
c. Rashtrya Beti Bala yojana  d. Mahila Siksha scheme. 
e. Answer not known 

 gpd;tUk; jpl;lq;fspy; vJ BBBP-,d; fPo; tUfpwJ? 
 a. jd= kfpsh rpR jpl;lk;   b. Rfd;ah rk;hpjp jpl;lk; 
 c. uh~;bhpa Ngl;b ghyh jpl;lk;  d. kfpsh rpf;~h jpl;lk; 

e. tpilnjhpatpy;iy 
 
167. A Scheme that caters to the primary needs of women in difficult circumstances 

is 
a. SABLA    b. Janani Suraksha Yojana 
c. Swadhar Greh Scheme  d. Indira Gandhi Matritva Sahyog Yojana 
e. Answer not known 
,f;fl;lhd #o;epiyfspy; cs;s ngz;fspd; Kjd;ikj; Njitfisg; g+h;j;jp 
nra;Ak; jpl;lk; ______ 
a. SABLA    b. [ddp Ruf;~h jpl;lk; 
c. Rtjhh; f;Nu jpl;lk;  d. ,e;jpuh fhe;jp khj;hpth r ;̀Nahf; jpl;lk; 
e. tpilnjhpatpy;iy 
 

168.  Under which scheme/s in Tamilnadu, SHGs were formed with women 
members, provided with systematic training, networked through federations 
and provided bank linkages for taking up income generation activities for their 
socio-economic empowerment. 
1. Mahalir Thittam   
2. Namaku Name Thittam 
a. 1 only   b. 2 only     c. both    
d. none.  e. Answer not known 
ve;jj; jpl;lk; /jpl;lq;fspd; fPo; jkpo;ehl;by; Ra cjtpf;FOf;fs; ngz; 
cWg;gpdh;fisf; nfhz;L cUthf;fg;gl;L> Kiwahd gapw;rp mspf;fg;gl;L> 
$l;likg;Gfs; %yk; gpizf;fg;gl;L> mth;fspd; r%f-nghUshjhu 
Nkk;ghl;bw;fhf tUkhdk; <l;Lk; eltbf;iffis Nkw;nfhs;tjw;fhf tq;fp 
,izg;Gfs; toq;fg;gl;ld? 
1. kfsph; jpl;lk; 
2. ekf;F ehNk jpl;lk; 
a. 1 kl;Lk;  b. 2 kl;Lk;    c. ,uz;Lk;    
d. vJTkpy;iy e. tpilnjhpatpy;iy 
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169. Tamilnadu Corporation for Development of Women (TNCDW) was 
established in the year________ 
a. 1983   b. 1984    c. 1985 
d. 1986  e. Answer not known 

 jkpof kfsph; Nkk;ghl;L fofk; epWtg;gl;l Mz;L _________  
a. 1983   b. 1984    c. 1985 
d. 1986  e. tpilnjhpatpy;iy 

 
170. Who was honoured with Avvaiyar Award 2021 for her multifarious 

humanitarian services? 
a. R. Kannagi     b. Dr D Santhi Duraisamy 
c. Dr. Shanti Renganathan   d. Chinna Pillai 
e. Answer not known 
jdJ gd;Kf kdpjhgpkhd NritfSf;fhf 2021Mk; Mz;L mt;itahh; tpUJ 
ngw;wth; ahh;? 
a. R. fz;zfp    b. lhf;lh;. D. rhe;jp Jiurhkp 
c. lhf;lh;. rhe;jp nuq;fehjd;  d. rpd;dgps;is 
e. tpilnjhpatpy;iy 
 

171. Under Protection of Women from Domestic Violence Act 2005, after the case 
was filed, within how many days judgement should be given? 
a.30  b. 15  c. 60   d. 90  e. Answer not known 
FLk;g td;Kiwapy; ngz;fis ghJfhf;Fk; rl;lk; 2005d; fPo; tof;Fg; gjpT 
nra;J vj;jid ehl;fSf;Fs; jPh;g;G toq;f Ntz;Lk;? 
a.30  b. 15  c. 60   d. 90  e. tpilnjhpatpy;iy 
 

172. Which one of the following schemes was launched to prevent women from 
trafficking? 
a. Swadhar Scheme    b. Ujjawala scheme 
c. Pradhan Mantri Ujjwala Yojana  d. ICPS 
e. Answer not known 
gpd;tUk; jpl;lq;fspy; vJ ngz;fs; flj;jg;gLtij jLf;f njhlq;fg;gl;lJ? 
a. ];thjhh; jpl;lk;    b. c[;[thyh jpl;lk; 
c. gpujk ke;jphp c[;[thyh jpl;lk; d. ICPS 
e. tpilnjhpatpy;iy 
 

173. Consider the following statements regarding Janani Suraksha Yojana 
1. Scheme was launched in 2005 
2. The state government provides 50% financial assistance 
3. Free transport facilities for delivery  
a. 1, 2 and 3 are correct   b. 1 and 2 are correct  
c. 1 and 3 are correct   d. 1 only correct 
e. Answer not known 

 [ddp Ruf;~h jpl;lk; gw;wpa gpd;tUk; $w;Wfis Ma;f 
1. jpl;lk; 2005Mk; Mz;L njhlq;fg;gl;lJ. 
2. khepy muR 50 rjtPjk; epjp cjtp mspf;fpwJ. 
3. gpurtj;jpw;F ,ytr thfd trjp 



 

51 | Page     APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187 

 

a. 1> 2 kw;Wk; 3 rhp   b. 1 kw;Wk; 2 rhp 
c. 1 kw;Wk; 3 rhp   d. 1 kl;Lk; rhp 
e. tpilnjhpatpy;iy 
 

174. National Nutrition Mission aims to improve the nutritional status of children 
from  
a. 0 to 6 years   b. 0 to 14 years  
c. 0 to 7 years    d. 0 to below 5 years 
e. Answer not known 
Njrpa Cl;lr;rj;J jpl;lk; ve;j taJ Foe;ijfspd; Cl;lr;rj;J epiyia 
Nkk;gLj;Jtij Nehf;fkhf nfhz;Ls;sJ? 
a. 0 Kjy; 6 taJ tiu  b. 0 Kjy; 14 taJtiu 
c. 0 Kjy; 7 taJtiu  d. 0 Kjy; 5 tajpw;Fs; 
e. tpilnjhpatpy;iy 
 

175. Choose the incorrect pair 
a. ICDS  - 1975 
b. JSSK - 2011 
c. STEP - 1988 
d. IGMSY - 2010 
e. Answer not known 
jtwhd ,iziaf; fhz;f 
a. ICDS  - 1975 
b. JSSK - 2011 
c. STEP - 1988 
d. IGMSY - 2010 
e. tpilnjhpatpy;iy 

 

176. The annual rate of growth in population of a town is 10%. If its present 
population is 26620, the population 3 years ago was________ 
a. 26000   b. 25100   c. 25000   
d. 20000  e. Answer not known 
xU efuj;jpd; kf;fs;njhif Mz;LNjhWk; 10% mjpfupf;fpd;wJ. mjd; 
jw;Nghija kf;fs;njhif 26620 vdpy;> 3 Mz;LfSf;F Kd; kf;fs;njhif 
_______ MFk; 
a. 26000   b. 25100   c. 25000   
d. 20000  e. tpilnjhpatpy;iy 

 

177. If 3 toys are sold at the cost price of 4 toys of the same kind, the profit will be:  

a. 25%   b. 33
1

3
%   c. 62

2

3
%    

d. 50%    e. Answer not known 
4 nghk;ikfspd; mlf;f tpiyf;F 3 nghk;ikfis tpw;gid nra;jhy;> ,yhgk; 
vj;jid tpOf;fhlhf ,Uf;Fk;?  

a. 25%   b. 33
1

3
%   c. 62

2

3
%    

d. 50%    e. tpilnjhpatpy;iy 
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178. 
1 1 1

: :
x y z

= 2 : 3 : 5, then x : y : z is  

a. 2 : 3 : 5   b. 6 : 10 : 15     c. 5 : 3 : 2    
d. 15 : 10 : 6  e. Answer not known 
1 1 1

: :
x y z

= 2 : 3 : 5, vdpy; x : y : z vd;gJ 

a. 2 : 3 : 5   b. 6 : 10 : 15     c. 5 : 3 : 2    
d. 15 : 10 : 6  e. tpilnjhpatpy;iy 

 
179. Find the missing term in the series:  

3, 7, 6, 5, 9, 3, 12, 1, 15, ?  
a. 18   b. 13     c. -1    
d. 3   e. Answer not known 
njhlhpd; tpLgl;l vz; fhz;f:  
3, 7, 6, 5, 9, 3, 12, 1, 15, ?  
a. 18   b. 13     c. -1     
d. 3  e. tpilnjhpatpy;iy 

 
180. A certain sum of money amounts to Rs. 10,080 in 5 years at 8%. Find the 

principal  
a. Rs. 7,200   b. Rs. 7,000    c. Rs. 7,300    
d. Rs. 6,200   e. Answer not known 
xU Fwpg;gpl;l njhifahdJ 8% tl;b tPjj;jpy; 5 Mz;Lfspy; &.10>080 MfpwJ 
vdpy;> mriyf; fhz;f.  
a. &.7>200   b. &. 7>000    c. &. 7>300   
d. &. 6>200  e. tpilnjhpatpy;iy 
  

181. A father left a will of Rs.35 lakhs between his two daughters aged 8.5 and 16 
such that they may get equal amounts when each of them reach the age of 21 
years. The original amount of Rs.35 lakhs has been instructed to be invested at 
10% p.a. simple interest. How much did the elder daughter get at the time of 
the will? 
a. 17.5 lakhs  b. 21 lakhs   c. 15 lakhs   
d. 20 lakhs  e. Answer not known 
xU je;ij jdJ 8.5 kw;Wk; 16 taJila ,U kfs;fSf;F ,ilNa &.35 
yl;rj;ij capypy; tpl;Lr; nrd;Ws;shu;> mtu;fs; xt;nthUtUk; 21 taij 
vl;Lk;NghJ mtu;fSf;F rkkhd njhif fpilf;Fk;. mry; njhifahd &.35 
yl;rj;ij Mz;Lf;F 10% jdptl;bapy;  KjyPL nra;a mwpTWj;jg;gl;Ls;sJ. 
capypy; Fwpg;gpl;Ls;s Neuj;jpy; %j;j kfSf;F vt;tsT fpilf;Fk;? 
a. 17.5 yl;rk;  b. 21 yl;rk;   c. 15 yl;rk;   
d. 20 yl;rk;  e. tpilnjhpatpy;iy 

 

182. A television set was sold for ₹ 1,170 after giving successive discounts of 35% 
and 10% respectively. What was the marked price?  

a. ₹ 1800   b. ₹ 1700    c. ₹ 2000    

d. ₹ 1900   e. Answer not known 
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njhlh; js;Sgbfs; KiwNa 35% kw;Wk; 10% vd;wthW xU njhiyf;fhl;rpg; 
ngl;b &.1>170f;F tpw;fg;gl;lJ vdpy;> mjd; Fwpj;j tpiy vd;d?  
a. ₹ 1800   b. ₹ 1700    c. ₹ 2000    

d. ₹ 1900   e. tpilnjhpatpy;iy 
 
183. What will be the duplicate ratio of 2 : 7? 

a. 4 : 49  b. 49 : 4   c. 4 : 14   
d. 8 : 343  e. Answer not known 
2 : 7 –d; ,Ugb tpfpjk; vd;dthf ,Uf;Fk;? 
a. 4 : 49  b. 49 : 4  c. 4 : 14   
d. 8 : 343  e. tpilnjhpatpy;iy 

 
184. If a sum of money compounded annually becomes 1.44 times of itself in 2 years, 

then the rate of interest per annum is 
a. 25%   b. 22%    c. 21%   
d. 20%  e. Answer not known 
Mz;Lf;F xUKiw $l;L tl;b fzf;fpLk; Kiwapy; xU njhifahdJ 2 
Mz;Lfspy; mj;njhifapd; 1.44 klq;fhfpwJ vdpy; Mz;L tl;btPjj;ij fhz;f. 
a. 25%   b. 22%    c. 21%   
d. 20%  e. tpilnjhpatpy;iy 
 

185. Every rational number is 
a. A natural number   b. An integer 
c. A real number   d. A whole number 
e. Answer not known 
xt;nthU tpfpjKW vz;Zk;  

a. xU ,ay; vz;zhFk;    b. xU KOf;fshFk;     
c. xU nka; vz;zhFk;    d. xU KO vz;zhFk; 
e. tpilnjhpatpy;iy 

 

186. Sasi purchased a house for ₹ 27, 75,000 and spend ₹ 2, 25,000 on its interior 
decoration. He sold the house to make a profit of 40% what is the selling price 
of the house? 

a. ₹ 31, 20,000  b. ₹ 36, 00,000   c. ₹ 42, 00,000 

d. ₹ 48,00,000   e. Answer not known 
rrp xU tPl;il &.27>75>000 f;F thq;fpdhu;> gpd;G cl;Gwq;fis &.2> 25>000 f;F 
moFgLj;jp mij 40% yhgj;jpw;F tpw;whu; vdpy; me;j tPl;bd; tpw;gid tpiy 
vd;d? 
a. ₹ 31, 20,000  b. ₹ 36, 00,000   c. ₹ 42, 00,000 

d. ₹ 48,00,000   e. tpilnjhpatpy;iy 
 

187. The fourth proportional of 6, 11 and 12 is  
a. 29   b. 23      c. 72    
d. 22   e. Answer not known 
6> 11 kw;Wk; 12 Mfpa vz;fspd; ehd;fhtJ tpfpjhr;rhu vz; vJ?  
a. 29   b. 23      c. 72    
d. 22   e. tpilnjhpatpy;iy 
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188. A sum of money amounts to Rs 9800 after 5 years and Rs 12005 after 8 years at 
the same rate of simple interest. The rate of interest per annum is 
a. 9%  b. 10%  c. 11%  d. 12% e. Answer not known 
xU Fwpg;gpl;l njhifahdJ Fwpg;gpl;l jdptl;b tPjj;jpy; 5 Mz;Lfspy; &.9800 
MfTk; 8 Mz;Lfspy; &.12005 MfTk; khWfpwJ vdpy;> Mz;L tl;b tPjk; 
vd;d 
a. 9%  b. 10%  c. 11%  d. 12% e. tpilnjhpatpy;iy 

 
189. The given number 871378519 is divisible by  

a. 9   b. 11  c. 7   d. 13   e. Answer not known 
871378519 vd;w vz; fPNo nfhLf;fg;gl;l ve;j vz;zhy; kl;Lk; tFgLk;  
a. 9   b. 11  c. 7   d. 13   e. tpilnjhpatpy;iy 

 
190. A trader buys an article for Rs. 1,200 and marks it 30% above the C.P. He then 

sells it after allowing a discount of 20%. Find the profit percent.  
a. 5%   b. 4½ %  c. 4%   d. 6%   e. Answer not known 
xU tpahghhp xU nghUis &.1>200 thq;fpdhh;. gpd;G mjd; mlf;ftpiyf;F 
Nky; 30% Fwpj;j tpiyf;F 20% js;Sgb nfhLf;fpwhh; vdpy;> tpw;w tpiyapd; 
yhg % vd;d?  
a. 5%   b. 4 ½ %  c. 4%   d. 6%   e. tpilnjhpatpy;iy 

 
191. If x : y = 7 : 4, then (8x + 5y) : (12x + 3y) is  

a. 19 : 12   b. 17 : 19    c. 19 : 24    
d. 24 : 19   e. Answer not known 
x : y = 7 : 4 vdpy; (8x + 5y) : (12x + 3y) d; kjpg;G fhz;f  
a. 19 : 12   b. 17 : 19   c. 19 : 24    
d. 24 : 19   e. tpilnjhpatpy;iy 
 

192. In 30 litres mixture of acid the ratio of acid and water is 2 : 3. What amount of 
water should be added to the mixture so that the ratio of acid and water 
becomes 2 : 5.  
a. 19 litres   b. 15 litres     c. 12 litres    
d. 10 litres   e. Answer not known 
30 ypl;lh; cs;s mkpyf; fyitapy; mkpyk; kw;Wk; ePhpd; tpfpjk; 2 : 3. ,f;fyit 
2 : 5 vd;w tpfpjj;jpy; khw Nrh;f;f Ntz;ba ePhpd; msT vd;d?  
a. 19 ypl;lh;   b. 15 ypl;lh;     c. 12 ypl;lh;   
d. 10 ypl;lh;  e. tpilnjhpatpy;iy 

 
193. A number consists of two digits whose sum is 11. If 27 is added to the number, 

then the digits change their places. What is the number?  
a. 47   b. 65   c. 83   d. 92   e. Answer not known 
xU vz; ,uz;L ,yf;fq;fisf; nfhz;Ls;sJ. mtw;wpd; $Ljy; 11. me;j 
vz;Zld; 27If; $l;bdhy;> me;j ,yf;fq;fs; jq;fSila ,lq;fis khw;wpf; 
nfhs;fpd;wd vdpy;> me;j vz; vJ?  
a. 47   b. 65   c. 83   d. 92   e. tpilnjhpatpy;iy 
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194. Find the compound interest on ₹ 10,000 in 3 years, if the rates of interest for the 
successive years are 10%, 15% and 20% respectively. 

a. ₹5180  b. ₹ 5000    c. ₹ 4860   

d. ₹ 5100  e. Answer not known 
mLj;jLj;j Mz;LfSf;fhd tl;b tpfpjq;fs; KiwNa 10%> 15% kw;Wk; 20% 
vdpy;> 3 Mz;Lfspy; ₹ 10>000f;fhd $l;L tl;biaf; fz;lwpaTk;. 
a. ₹5180  b. ₹ 5000    c. ₹ 4860   

d. ₹ 5100  e. tpilnjhpatpy;iy 
 

195. The taxi charges in a city comprise of a fixed charge of ₹ 100 for 5 kms and ₹ 16 

per km for every additional km. If the amount paid at the end of the trip was ₹ 
740 find the distance travelled.  
a. 45km   b. 35.2km    c. 40km    
d. 42km  e. Answer not known 
xU efuj;jpy; thlif kfpOe;jpd; (Taxi) fl;lzk; Kjy; 5 fp.kP njhiytpw;F 
&.100 -k;> mjd;gpd; xt;nthU fp.kP - f;Fk; $Ljyhf &.16 - k; 
epu;zapf;fg;gLfpwJ. xUtu; jdJ gazj;jpw;F nkhj;jkhf &.740 toq;fpdhu; 
vdpy;> mtu; gazpj;j nkhj;j njhiyitf; fhz;f. 
a. 45fp.kP   b. 35.2fp.kP    c. 40fp.kP    
d. 42fp.kP  e. tpilnjhpatpy;iy 

 
196. Find the odd man out 

6, 11, 21, 41, 81, 171, 321, 641 
a. 81   b. 171   c. 641   d. 6  e. Answer not known 
gpd;tUk; njhlh;thpirapy; jtwhd vz; vd;d? 
6, 11, 21, 41, 81, 171, 321, 641 
a. 81   b. 171   c. 641   d. 6  e. tpilnjhpatpy;iy 

 
197. By selling 45 lemons for Rs.40, a man loses 20%. How many should he sell for 

Rs.24 to gain 20% in the transaction? 
a. 18  b. 20  c. 16  d. 23  e. Answer not known 
45 vYkpr;rk;goq;fis &.40f;F tpw;gjd; %yk; xUtUf;F 20% ,og;G 
Vw;gLfpwJ. guptu;j;jidapy; 20% yhgk; ngw mtu; &.24f;F vj;jid 
vYkpr;irfis tpw;f Ntz;Lk;? 
a. 18  b. 20  c. 16  d. 23  e. tpilnjhpatpy;iy 

 

198. A ribbon cut into 3 pieces in the ratio 3 : 2 : 7. If the total length of the ribbon is 
24 m. Find the length of each piece respectively.  
a. 6 m, 4 m, 14 m    b. 14 m, 4 m, 8 m  
c. 6 m, 16 m, 4 m    d. 4 m, 6 m, 14 m  
e. Answer not known 
24 kP ePsKs;s xU hpg;gd; 3 : 2 : 7 vd;w tpfpjj;jpy; 3 Jz;Lfshf 
ntl;lg;gLfpwJ vdpy; xt;nthU Jz;bd; ePsq;fis fhz;f.  
a. 6 kP> 4 kP> 14 kP    b. 14 kP> 4 kP> 8 kP  
c. 6 kP> 16 kP> 4 kP    d. 4 kP> 6 kP> 14 kP 
e. tpilnjhpatpy;iy 
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199. The difference between compound interest and simple interest on an amount 
of Rs.625 for 2 years is Re.1. What is the rate of interest per annum? 
a. 16%  b. 2%   c. 8%   d. 4%  e. Answer not known 
&.625f;F 2 Mz;Lfspy; fpilf;Fk; $l;L tl;b kw;Wk; jdp tl;b Mfpatw;wpw;F 
,ilNaahd tpj;jpahrk; &.1 vdpy;> tl;b tPjk; Mz;Lf;F vj;jid rjtPjk;? 
a. 16%  b. 2%   c. 8%   d. 4%  e. tpilnjhpatpy;iy 

 
200. A bicycle marked as Rs. 1,500 is sold for Rs. 1,350. What is the percentage of 

discount? 
a. 20%  b. 15%  c. 10%  d. 7%  e. Answer not known 
xU kpjptz;bapd; tpiy &.1500 vd;W Fwpg;gplg;gl;Ls;sJ. ,jid &.1350 f;F 
tpw;why; js;Sgb rjtPjk; vd;d? 
a. 20%  b. 15%  c. 10%  d. 7%  e. tpilnjhpatpy;iy 
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CLASSROOM CONSOLIDATION (CRC) TEST 
 
Duration : Three Hours]                               [Total Marks : 200 
 
Read the following instructions carefully before you begin to answer the questions. 
 

IMPORTANT INSTRUCTIONS 
 

1. You will be supplied with this question booklet 15 minutes prior to the commencement of the 
examination. 
 

2. This question booklet contains 200 questions. Before answering the questions, you are 
requested to check whether all the questions are printed serially and ensure that there are no 
blank pages in the question booklet. If any defect is noticed in the question booklet, it shall be 
reported to the invigilator within the first 10 minutes and get it replaced with a complete 
question booklet. If the defect is reported after the commencement of the examination, it will 
not be replaced. 
 

3. Answer all the questions. All the questions carry equal marks. 
 

4. You must write your register number in the space provided on the top right side of this page. 
Do not write anything else on the question booklet. 
 

5. An answer sheet will be supplied to you separately by the room invigilator to shade the 
answers. Instructions regarding filling of answers etc., which are to be followed mandatorily, 
are provided in the answer sheet and in the memorandum of admission (Hall Ticket). 
 

6. You shall write and shade your question booklet number in the space provided on page one 

of the answer sheet with BLACK INK BALL POINT PEN. If you do not shade correctly or fail 
to shade the question booklet number, your answer sheet will be invalidated. 
 

7. Each question comprises of five responses (answers): i.e. (A), (B), (C), (D) and (E). You have 
to select ONLY ONE correct answer from (A) or (B) or (C) or (D) and shade the same in your 
answer sheet. If you feel that there are more than one correct answer, shade the one which you 
consider the best. If you do not know the answer, you have to mandatorily shade (E). In any 
case, choose ONLY ONE answer for each question. If you shade more than one answer for a 
question, it will be treated as a wrong answer even if one of the given answers happens to be 
correct. 
 

8. You should not remove or tear off any sheet from this question booklet. You are not allowed to 
take this question booklet and the answer sheet out of the examination room during the time 
of the examination. After the examination, you must hand over your answer sheet to the 
invigilator. You are allowed to take the question booklet with you only after the examination 
is over. 
 

9. You should not make any marking in the question booklet except in the sheets before the last 
page of the question booklet, which can be used for rough work. This should be strictly 
adhered to. 
 

10. In all matters, the English version is final. 
 

11. Failure to comply with any of the above instructions will render you liable for such action as 
the Commission may decide at their discretion. 

 


